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Fill in the blank with appropriate preposition. Sifat
was being impolite___everyone at party.

(a) with (b) to (c) at (d) for
“q3f09 & #iet (AN 1" Which of the following
translation is correct?

(a) Open at page 16 of the book.

(b) Open page 16 of the book.

(c) Open on page 16 of the book.

(d) Open page 16 of this book.

Choose the correct synonym of the word
‘Benevolent.’

(a) Miserly

(c) Rude

TTRLDR oS-
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frg &l v WoeE A1 T@HT A oifrant
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TR wfee formm ISAN TEe 3e?
E |l
in in
60
(a)4Q ®9Q ()60  (d)50
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(a) M1L2T-2 (b) MILIT?
(c) MML2T-3 (d) M1L2TO

F WfeT s 220 v @3 1200 Watt e
mmﬁaﬁﬁﬁfﬁmmwz.som@,
ST 3 2 X1 BPerIee T 4 oo

(@)5ORT (b)) 65 (¢) 7.2 B (d) 8 Bt
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(a) 500 Js™? (b) 200 Js~*

(c) 350 Js~? (d) 800 Js~?
Gt «z Wy 12.5 q=@1 50 I o7 97 U8
fbwom T wot sRfHE <era?

OF ®); ©x @3
GBI We  edF 0.92 x 10° Pa
AP TET SPIETTS! F6?

(a) 7 X 10° Nm™2 (b) 0.92 X 106 Nm™
() 105 x 105 Nm™2  (d) 5= x 10° Nm™2
CIICAT I8 (LA (TS fPies ©a @ JTdid @
A 300 gm €2 6.30 ms™! | FEHHLS CIFE
Prea e @ 60° 2= w1iea i dy 92
(a)4m (b) 6m

(©)3m (d) RRDE 7

32 ~fa pH W F© T Lﬂﬁﬁjﬁw

(2) 5.6 99 9% (b) 5.6 93 @f*

(c)3.5 93w (d) 3.2 @33

35°C ST 218G NaCl 93 250 mL & a0
T et AAES I 117 g 7 ofnea ot
Sy ofs b 7= et NaCl 93 @rrel 67

(a) 7.5 molL™* (b) 8.5 molL™?
(c) 8.0 molL™? (d) 9.0 molL™?
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O W Na 41g &1 7?7
(a)23g (b)23.0g
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— [3RT i (T
@c= = (b)c= o
2RT

(c)c—ﬁ @c= |5~

41. WHO Sifwe BOD @7 e sral-
(a) 6 mgL™! (b) 8 mgL™?
(c) 10 mgL™? (d) 5 mgL™?
42. Pt = @rwr ey 9 -
(i) 6 HCl (i) Ao o
fea el w2
(a) i, ii (c) i, iii
43, fﬁmm%&m@ww-
(i) CH;COOH  (ii) BHA @ BHT
(iii) CH;OH
fse e wie?
(a) i, i (b)ii, i (c)i,iii  (d)i, i, iii
44. CH,CN S9qr® 3@ o (o) € A% (m) I59
LR FG?
(@582 (b)4€3 (c)583 (d)4e2
45. fAwea Wl Tee ¢ Ree Souars o6 I@?
(a) Fe3* (b)Fe**  (c)Sn**  (d) Hg?*
46. fAtea FRba Cvtg @G eitarey 7E?
(a)H (b) H* (c) He*
47. 5% NaOH Bt (e 9Iw1al 97
(a)1.25M (b)2.50M (c)1.20M (d)1.50 M
48. 25°C©ft? @ 1atm L% 4L 0, (& 0.8 L Q *iffer®
TS BILAA T I 204?
(a) 5 atm (b)4atm (c)3atm (d)2atm
49. farsa 4t TG ey A @ G @3 d-
ZERGTTE T AfGw?
(a)4,3,2 4+ 1/2 (b)4,2,1,0
(€)4,3, =2,+1/2 (d)4,2,1-1/2
50. 1°,2°,3° -unificea Wy endey fAder aage @
@RB?
(2) HNO;  (b) Zn,HCl (c) HNO, (d) CHCl,
51, 5o GUEDA #r AT @M @mn?
(a) #T-5, 2Fo)-1 (b) #ra-5, &F9-2
(c) 775, 2F9-3 (d) -5, &p9f-13

(c)46.0g (d)11.5g

(i) STeyegeT fora

(d) i, i, iii
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2. 0.01 M CH,CO0H afmen wdm wag @ afes
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(i) 9= 41 906
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(iii) faferara 2@ sqw@ RX @7 w7 arae B9
S

(b)42%x 1072 M
(d)4.2 % 10*M

fsa e Afée?

(a)i, ii (byii,iii ()i iii  (d)i, i, iii
PCls @ P &7 <A %47

(a) sp? (b)sp’d  (c)sp®d® (d)sp’d’

2CsHsCHO + 50% NaOH — A + B; %6 Eeomwd
a3 T3

(a) C4HsCH, (b) CsHsCOOH

(c) CgHsCH,OH (d) CgHsOH

250,(g) + 0,(g) = 2504(g) + ©I%; SI*=1@T F
Face @ fafera 9t wm?

@K @aa @A (b) K, 93 9= 3w o1

(c) Rz @ =m  (d) s o face I
@A SfgE e F=?

(@)NaOH  (b)KOH  (c) Ca(OH),(d) NH,OH
A (A T S O el
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(iii) STCATET THA
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(a) i, ii )i, it (0)i, i (d)i, i, iii
a a X

B B Bl =0, x 93 TN @FLG?

0 x ©

(@)a,B,6  (b)a,® (c) B0 (d) a,B

S5x— 7y = 15 IR Bo 7Y @A (2,-3) Repdt
TRETRoa wiae-

(a)7x—=5y+1=0 (b) 7x + Sy = 15
(€)5x+7y+15=0 (d)7x+5y+1=0
4x+3y=c 9 12x-5y=2(c+3) @Iy
AR TS NS A ¢ 93 T F'S?

(a) 10 (b) 12 (c) 14 (d)8
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Do I (@)3 )= (c) 4m (d)3
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66. cos™! x ¥ (Y PTMH? (a) sinx = == (b)secx:-—l‘;-i

mx
.. - 0,
@11 (b)( )(c)[ 2'2] @ 10.n} (c)tanx=—? (d) cosecx = -3
In2

67. [y o dx 99 TR DY 2 76. x AT FAN T %2 — 4x + 5 AT FHew 7
(a) ln; (b) ln; ©3 5 3 @Eo?

68. lim (1+21) @3 9= @H®? (a1 (b) -1 (c)4 (d)5
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725 e sfoww =031 Jafba leme D S ©-8 @3
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C Ca
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a a x
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63. Y (c), A(l 3),B(-3,5), C(a,7)

z 53 ; ;”_5
=|(5—21+3a+9 5a—7)| =10
= |(—2a-14)|=10= |2a+ 14| = 10 & 5
=2a+14=1+10=>a=-12,-2 (1,3) D (-3,5) A(lL3) D B(-3,5)
C(-12,7) A C'(-2,7)
A ¢ B @3 wgfis, D = (1 2,22) = (-14)
+ C(=12,7) il s onfy, €D = /(=1 + 12)2 + (4 — 7)? = V112 + 32 = V121 + 9 = V130 933
WL C'D TN W, C'D = /(=2 + 1)2 + (7 — 4)2 = V10 4F5
64. FANYE: (b); y -‘xz—2x+1=b —=2x—2=2x-2=0=x=1
2y=12-2x141=0 ..(1,0)1%'@5
65. IAHF: (d); y+x=0;y = —x; 5% = (—1) = tan 135°
& X SR 4NIgd Trea s @9 135° @1 Sooy 0 | [@0d x-S0FT (g A ANGS G 9 A A
T x-SR 4GP M AR @i 403 et )]
66. FAAY: (d); cos™ ! x 9F &% [0, ]
n

AABC =

C(-12,7) C'(-12,7)

67. STRIYA: (a); f'“zlj",dx FE [ 1+t =z etdx=dz] g o
=[Inz]3 = (E) 2 e 3
= f’nzlj; ;“2"(11::) = [In]1 + e¥[]in2 [ f%: Inx + c]
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. b
68. FTAIL: (d); lim (1+3) = e (rmfa o)
69. STRIYEA: (a); (G x-NCHA & QST f = 0 - J0T9 FAwa, x2 + y2 + 2gx+c = 0

(3,5) R afm, 32 + 52 + 6g+c=0=6g+c+34=0......(i)
(6, 4) g 2w, 62 + 42 + 12g+c=0 | 128+c+52=0
= 12g+C+52 = 0....... . (i) (fg:f)ﬁ[“fhﬂ
ol

()79 g=-3aTAAE, -18+c+34=0 ~c=-16
+. qafoq @A x? + y? — 6x — 16 = 0

m

1-tan® | (n 9) L l-taﬂ(;-ﬂ)
£ - - T

1+tan@ 4 1+mni ;-Bj

70. AAI4: (d); g(8) =

J 1—(—-—-—::;:::) [ - (E " 9) tan( )-tanﬂ 1-tana] _ l+tan@-1+tan® _ tan 6

1-tan
0 1+tanB 1+tanB+1-tan O
1+(mma) 1+tan(4) tan

fa@#4: g(0) = 1-tan® oAl = tan G - B) g(—:— - 9) = tan {-1_-:- — (-E - B)} = tan®

1+tan® 1+tan% tan®
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II \ SI-ATHq QOQE‘Q&

SRl (0) ﬁquﬁ@q;cl+k1,=U:xz+y2—2x—4y—4+k(2x+3y+1)=0_“““F

7.

f m(oo)ﬁﬁmﬁ —4+k(1)=0:k=4
kaaaﬁ(u)maaﬁmﬁﬁx +y?—=2x—4y—4+8x+12y+4=0=x*+y? +6x+8y=0

z (1~sinx)
72, (b)' 0 1+5|nxdx - J."{(1+clnx}(1-~:mx]} "

z J. [(1—5121&::)} dx.= J'q (sec? x — secx - tan x)dx
05°X

.-_-[tanx-—secx]g=tan%—sec%-—tan0+sec0=1—\1'2_!+1=2-—-v’§
73. AAY: (a); 6x—y+k=0=>y=6x+k
1 a il
yz=123@3%@,'(:%:91{:;[?5:;][tﬂma=3,m—-6]
74, FRREE: (b); —1+i=m—tan™ |:‘;| [+ —1 + i wifoer 7B {7 bgeitst w17

3w
:ﬂ—tﬂﬂﬂl(l) ='|T'_E="_

75. HAMEE: (0);

; 1 N
cosec X = 2; sinx = - cotx = —V3

T (R tanx = —~%= —g =~ Option (c) A= |
76. TR (a); X2 — 4% + 5 I FIOAAM=c— = =5-~=1; [ra=1Lb=—4,c=95]

77. FAEE: (d); x3 —7x2+8x+10=0

e zxél%l‘ﬁ’f_ﬁ_
Zap=(-1) x’aaw_1_8

78. FM: (d); ORI €7, J069 FF (h, k) Ay = 3x — 7 QIR TSR/ MFS 1 =~k =3h -7
-~ el (1,1) g T I e eea IFTe, = ?aw
- @R TS (1,1) Rqa g = Pid
= (h— 102+ (k— 2= ()

2
=>h2-2h+1+(3h—a)2=§

= 2(h*-2h+1+9h*-48h+64)-5=0

= 20h? —100h +125=0 = 4h?* —20h+25=0
3x5

= (2h-52=0=h=3- k=——7—§
et (x- ) + (y-3) = (T
1
3

10

=>x2—5x+T+y —ytz==

= 4x% = 20x+ 254+ 4y* —4y+1-10=0

=>x2+y? —5x—y+4=0

Shorteut: Option test, 9@ Option (d) % (1,1) ﬁ“i‘ﬁ | ©IR B&d (d) Q|
. TR () 12925 = [24] X |25] = V42 + 32 x V42 +32 =5 x5 =25

AT B); =4 L = 1[a=4b=6, b>a

= BATafE® Aryg 447 = E it | S Eqw

AN S|
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Gilfd Gf® STatesT 2020-28 frrpay ottt
gisa:vo | 2fA5:A OM:R | W ac fafad ai‘r;gc‘m()MR
oPEeITE TG bro B oPet WITR | 1t eitare Bam ez 2fefd gt B | T 0 G491
S 0.0 NF W01 T | (I YA WIATPLEoT 4RI ol AL 71| SR AA e
QR (&1E{b %I %
01. “He is unable, yet willing.” Il IEIa < | 10. @i e e 7a?
W @FAB? (a) CFIRGH (b) SITEE FReTaE
(a) &7 79, g 3wg@ =77 (c) #1232 (d) @et
(b) G Tz, g Wy 11, 595 FCAHGH 2ol
(c) C1 ST, 3o 7| (i) Key CHI® (i) TrF (i) 31
(d) G ==Y, g8 TR | faesa el ifoe?
02. FF IFMDL w&? (a) i, ii (b)ii,iii  (c)i, i (d)i, i, iii
@FRR  (B)SRER () WRERE (DFRIAR | 12 for5a @AM (A + B)(A' + C) (B’ + C) ATAFEF?
03, “T81 “IRRT" eI d- () AB' +AC'+BC'  (b) AB' + AC + BC’
(a) Rore? w@p (b) ©8 (c) A'BC’ + AB'C (d) ABC
(o) ffeFr s (d) T 13. Y = CD + EF + G A& 3319 & %3 AND o5
04. “COMM GF6! Ol 99 STRI” Which of the ATAE?
following translation is correct? (a) 4 (b)5 (c) 3 (d) 2
RIS A g dowk 14. @I Rt R e fivs zt 1z ofafe
(b) You have one good news. =
(c) Here is a good news for you. )
(d) Here is one good news. (a) ATETCIITE Brelts =X (b) “fawr frre =3
05. Choose the correct synonym of the word ‘Equivocal’ (c) STHFTREG fro 3
(a) Uncertain (b) Certain (c) Obvious (d) Lucid (d) @SSt &5 Fare =1
06. Fill in the blank with appropriate preposition. The 0 1 0
guest will come the afternoon. 15 v c "20 AHENY jﬁ
(a) in (b) by () at (d) on QF s SREe | 38H TR oo gt 59?
07. (3 SEINIBE@ QA &S T3 SR T 2 (a) z7GRp  (b) 5 GRp (c) %ﬂGRp (d) STGRp
(a) CRINCATE (b) TR I 16. T A SN GF-2i1 &Y G G sfenfE T2
(c) TR (d) T FfTEH 3 3
(a) SRT (b)3RT
08. IP f5%Ht (IP address) f37? s
(a) @5 37Ta AT ST )3 3 (R omARY Y
(b) FF=TETH eI AN 17. iy+kz =83 b= V2l + 2] — 4k (o¥a® W@
(c) FATHR DTS Y ¢ feerzem TSI (R AL (05 (TS 43 (o942
RGBT THA @) + (1) ®) £vZ (2)
(d) B eTITE A 7Y@ foffera w1 © 4 (ﬁ) @+ (m+ﬁ)
09. iR foree ofevm owea s @ SAmmta V5 =\
Sfiret sTasTH @I 18. n kg-wt 35 2T T 930 IGE 10 m/sec @
(2) ZOHGH (b) e 100 m Swery BT T8HT o7 77
(c) (Bl (d) G (a) nkg (b) 10 kg (1:)-:-l kg (o:i)l—“0 kg
GRTEE

lb

L

OG qEHA @R

WARE
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19. a0 FICH 2fem 227°C @ 27°C Storrat #{ffeica Fie
o041 2femia wwe! 307

@)25%  (b)40%  (c)50%  (d) 60%
20. fAToa @ ST caiSe @ fReGTa et 7 ?
(a) 1H ®ILi (0§ C  (d)#Na

21, f6 4 QI TRITH T& 90 QLR 2.4 pF |
ST YT PG 6UF A DT (PG T Z(4?
(a) 3uF (b) 4uF (c) 2uF (d) 6uF

22, (I HE MIEAEA S 1087 ©7 932 A @9t
T 5 gm @ 5 msec™ | SIFAN] AIFH (TF AT
fones e 60° @ rierlba it oy wve?

(@)5.10m  (b)8.55m (¢)2.55m (d)3.05m
R,

‘Rz R,
. X \fﬁm%ﬁiﬁwr{l:Rz:

[ Ev
11

R3 = R, = R 1 97 QI $97?
@ ®F  ©F  @5R

24. M SE@ 930 I8 1 m IPNE R otees g
QT CIeTeba Soifaete (=it 0.5 sec 753 =fet
IE0F @1 *1t4 G2 8 msec 2 e O WAL T67?

(a) 2 msec™1 (b) 16 msec™1
(c) 4 msec™1 (d) 8 msec™!
25. wrarers R It T Feifie 3 fF 957
(a) B #@ (b) 3 =it
(c) 932 AT (d) e =

26. 100 gm St 96 IF 45° @A 20 ms~! ot

fifre 2= o wefie Qo W oftfe Scdss
sifenfe Te?

(@)11.04] (b)10]  (c)7.50] (d)4.50]
27. 1000 a2 @ offar®w wy fe 5.25

70\

|

—

29. FARGA 3B (HAGTA?
(a) NAND 6 AND (b) OR 8 AND
(c) NOR 8 OR (d) NAND @ NOR

30. TEFCfHE afrea e edE 3.0 x 100 N2
A AGTATS! FE?
(a) £ X 10~°Nm~2 (b) 0.33 x 10° Nm=2
(©3X107°m?N""  (d)0.16 x 10° m?y-1

31 @l coufeEn "M WY 693 1 @3 oy oy
3 fie?

(a) 1293 fm (b) 1386 7=

(c) 1000 fey (d) 2145 fasy
32. foa G e varga st stfieger?

(a) MILIT? (b) MOLOTO

(c) MILIT? (d) @ITAIGE 77
33. 069 (I S SR Ao @ ?

(a) SIS (b) o1 5%

(c) i ffeer (d) et afay
34. 43 BIFE ©F 10 kg W2 5@Ae T 10 m ==

51515 Treel ge $o?

(a) 2.50 kg-m? (b) 250 kg-cm?

(c) 250 kg-m?
35. 9W-@ 9T 9T AL
(a) IMCFEE  (b) WG
(101101.11101), = (?),
(2)(52.72) * (b) (2D.E8) (c) (45.85) (d) (55.72)
28°C ©I"TER &FS NaCl 93 500 mL & T
T Ot TGS T 117 g T neq o @
IR 26 B =% Wt NaCl @3 wravet 397
(a) 5.0 molL™? (b) 4.5 molL™?
(c) 5.5 molL? (d) 4.0 molL™!?
38, WY SWE WY W@ @ R
fAfowwad = am?

(d) 2.50 gm-cm?

(c) &= (d) oI5

36.

37.

CTLF™E 4T 2 A %R 21z caiaet awae Besiy wirom @ Ca®™  (b)Zn®*  ()Fe**  (d)Na*

“Afgrane w7 39, CIABA (W@ QI SR N erarE?

(a) 250 cal (b) 1050 cal (@) H* (b)He*  (¢)Li*  (d)Be?*

(c) 2100 cal (d) 500 cal 40. =rfra TR @ SR 8o (Ut fAtea fate

28. aﬁmﬁmzonnaﬂmﬂwm -

300 ms™ a7t e W | I w9 Ty (i) V1o 22 21 ofr (i) srg ifararer g W

T FICe it ww? (iii) Srftesget = Zpr sy

(2) 6 x 10* Js~1 (b) 6 X 104 Js~1 fTsa ot sifdws?

(c) 6 X 10? Js~1 (d) 6 X 103 |5~ (@) i, ii ®)ii, i ()i i (d)i, i, il

D s W . |
I ETTEE— T

@ CamScanner
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42.

43.

45.

46.

47.

48.

49,

50.

4 B

@Tﬂﬁlﬂ‘ﬁsﬁﬁ‘ﬁ@‘ﬁﬂmmﬁfﬁm

(@) ww{w (b) T3NS

(c) = (d) TTyee s
f&a Srem@m @ 3 atm A @ ffRE st CO,
ST SIS 1.80 L1 @ CO, *MITTa e 3 3t
3.60 L 331 X(=11 O & Y04 b1 0 Z(?
(a)3.5atm (b)2.5atm (c) 1.5atm (d) 1.0 atm
FIATE 1 mol Cu 4Ig T FC© CuSO, T F©
TS g sl =ws 23?
(a)1F (b)2F (c)3F
(i) BF; (i) NH}  (iii) H;0*
e e wfe?

(@)1, ii (c) i, iii (d) 1, i, iii
IEEASRRIIE ﬂﬂmmmmmﬁw@?
(a) ATS (b) =T

(OBLEY (d) seifFafew A
@A @ Sig uffe?

(a) CH;COOH (b) CH3CH,COOH

(c) CH3CH,CH,COOH  (d) HCOOH

NH,Cl 5s & f& asitaa a5 stz

(i) e TH (ii) STCAIST I

(iii) AT TFH

fAee o w7

(a) i, ii (byii,iii  (c)i, il (d)i, i, iii
H,C = C(CH3) — CH,OH G1=ifa IUPAC 915 §1?
(a) 2-faiZe-2-caAifom- 1w

(b) SIEIZE WP

(c) friZet fea12e ceirsireer

(d) 2-frZer-1-caifam-3-o

WHO s #Nifare TDS @9 A wial-

(a) 400 ppm (b) 600 ppm

(c) 500 ppm (d) 1000 ppm

fRreze wrae Foi«itaa pH wfivm F97?
(a)3.1—4.4 (b) 4.2 — 6.3

(c) 6.0 —7.6 (d) 8.3 —10.0
s @ SRl vesEs REnd T F?
(@ N;05  (b)P,0s  (c)Cl,05  (d) V05

(d) 4 F

W <A TR (P *HIE T A2
(b) IS afire
(d) Jreere

(a) 2w
(c) e

- - 2020-28‘

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

0.005 M H,S0, Gatei¥ pH &7

(a) 3.5 (b) 3 (c) 2 (d) 2.5

250 mL 0.1 M H,S0, Batd %S &1 H,S0, AtSF?
(a)2.45g (b)2.98g (c)490g (d)9.80g
A[TATe 2[5+ GBI ST SraFl-

(i) A A A (i) =@ S

(iii) SToMIEt 45°C a9 a4 4t

Sea S Afew?

(a) i, ii (b) i, iii (d) i, i, i
CcHsCOONa + NaOH(CaO0) 2, A; A G -
(a) C4gHsCOOH (b) C¢HsCH;

(c) CgHg (d) CgHsOH

N, (g) + 3H,(g) = 2NH;(g); RfFafors K, @ K.
G YT T=F (@072
(2) Kp = Kc(RT)z

(c) Kp = K (RT)2

(©) i, ii

(b) K = K (RT)
(@ Ke = Kp(RT)

frefpefFlm suarem RieFm -
(i)>C=0 (ii)—CHO
(iii) —COOH
ffeee el w7
(a) i, ii b)ii,iii ()i, i (d)i, i, iii
a=[% Plzmat=sw

1[4 5 118 5
@ -3 2ls_8 (b)E[e 4]

i[4 —6

(C)E[e 8 (d)E[—s 8]
3sec* 0+ 8 = 10 sec? 6 T tan 0 O T F&?
@t (b) £1
©I% ) +=,+

1 -2 3
(0 1 —2) qQa (1, 2) oF ofEa FReTw
-1 0 2

@B?

(a) =2 ®=-2  (c)2 (d) 4
2tan™ > + tan™! 2 7 TR FAG?

@3 (b) ™ ©2n (@7
A e B2 3 x 3 &t MG == |A — B| = 0 97
w2

()A=0dB=0 (b) |A| = 031 |B| =

(©)|Al=0932|B| =0 (d)A=09aB=0

. O oaa 26 srreaE = AR 2x — 4y —

9 = 0 G3R 6x — 12y + 7 = 0 T J0E IFAE F©?

@2 O O @2

IS GGAMT @
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I I \ E'H-mﬁlﬁraoaw_éa\
65. lim :;2 7 ¥ (FHD? 74. y*=4x 78 IR y = 2x T ﬂﬁ
;a)% (b) 1 (€)3 (d) (TR CFETe (FTI0?
66. =+ L = 1 BoIUaA BoNTE A FD? (a) 5 3 a7 (b) 7 e
(a) (0,+5) (b) (£5,0) (c)gvf GTF (d) 33 azs
(G20 (OIS0 75, 4x* = 5x7 ~ 4x® 4 TX + 9 GF X + 1 W1 Ot
67. cosB = E{Cﬁ, tan 6 Q9 YH 97 R———
@ty O ©F  OF (a)7 ®-7 @1  (@Io
68. y=x2—4x+4€cﬁc¢mﬁ=ﬁw§= 2 3[A? 76. (1,-1) R %2 +y2 = 3x -4y +7 = 0 9

@(13) OMGI1D (©E31) @(-13) o o = pfreea tady-
69. aﬁiﬁnﬂwﬁ Tﬁrﬂﬁﬁﬂmmnm TAf, (a) V2 VIO  (c)4 (d) 10
(v2.3) ¢ (2.3) zr faguoa e 7o 97 @a90? | 77, a4 ia w7 SIETTS @B

4

@;(3-1) (b)1-+3 (@) ®; ©F @F
(©3(V3+1) (d) @ABE 7 78. x—kx+9=0 AW T9E @A 7m
70. y? -4y — 4x + 16 = 0 RIS OGS 77 (FIL? HAw JeTaq GfoeT 20 k 97 T @17
(a)4 (b)2 (c)3 (d) 16 (@)-1<k<1 (b) 6
71, k-99 (P M &0 (x —y +3)%2 + (kx + 2)(y — (c) -6 (d)-6<k<6
1) = 0 A= @Ff 3a frort zm 79. x—3y—2 =0 G¥F Bom walze P R (2,3)
(a) -2 (b) -1 (1 (d)2 2 (6. — FAGATE!
72, 9x? +4y? = 36 TG T SR (G (AT (FIA? L5 sm)ﬁivﬁﬁiw bt
(a) 5 (b) 3m (c) 4w (d) 61 TiI% )

73. (1, 0) R @32 x + 1 = 0 TGN U Tzt (a)(12,4) () (14.,4) (o) (16,4) (d)(18,4)

REDTTE G5 @ o1 159 S o i - | 80 T2 =x+iy dR |z - 2| = 37, FF @T?
(a) x2 = 2y ('b) yz = 4x (c) %2 = 4y (d) y2 = 2% (a) @3, U) (b) (Oa 2) (c) (2: U) (d) (U, 3)

| T S ST 2029-38 97 FHYT
4 (o

0l.d | 02.a | 03.d| 04.c | 05.a | 06.a | 07.b | 08.c | 09.a | 10.b [ 1L.d| 12.- [ 13.d| 14.¢c | 15.d
16.b | 17.c [ 18.a | 19.b | 20.c | 21.b [ 22.¢ | 23.b | 24.- | 25.b | 26.b | 27.d | 28.a | 29.4 | 30.¢
3l.c| 32.b|33.b| 34.c | 35¢c|36.d]|37.d]| 38.a |39.b|40.d |4l.a| 42.c | 43.b | 44.a | 45. 2
46.d | 47.d | 48.a | 49.c | 50.a | 51.b [ 52.¢ | 53.c | 54.a | 55.d | 56.¢ | 57.c | 58.a | 59.c | 60.d
6l.c| 62.- | 63.d| 64.d [ 65.b | 66.b | 67.b | 68.b | 69.a | 70.a [ 71.d | 72.d | 13.b | 74.a | 75. 2
76.b | 77.b | 78.d | 79.b | 80.¢

04, FAAYE: (c); 94 News (@TZY Uncountable &7 | 06. STAYS: (a); AT WWWAﬂemoonuﬂa"[@’

2T a piece of news TA AF AT TOT| ﬁrg at = 6 in 0|

AT Q4T GAfB (RaRT 2 O Informal Feifarera | 12 FIEH: (716w Bwa ¢TR); (A + B)(A' + C)(B' +C)
| e TR S S (o) o ot [= ((‘:‘{ i g;((:'B'z")‘ C)(x o
i N _ +2)-(X+
; 0. AMM: (a); Equivocal v W et winfwe, = AA'B' + BA'B’ + AC + BC
; «FZS[Cq Uncertain @7 | =AC+ BC=(A+B)C

5% AR ey FREa .- I
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30. Y (c); AWNS! =
13.

15.

16.

17.

18.

19,

20.

21.
22,

23.

24,

26.

27.
28.

T (d); E g
F
G
Y (d); g’ = f“G (R . z%)p
_1 19
= X3 T[GRP = Tl'GRp

FAYI: m),mmwoﬁwmm
A O 2R oS, B, = 2RT

FAY: (¢); [2TH iy + kz @F =TS jy + ke @
SO 9% Te siet IR]

(vi+2k)- (VZi+2j-4k) =0=2y—4z=0
2y=2z

R, Jy2+z2=1=2y? +22=1

24722 +22=1=3522=1 = z—-+—

ﬁ

Lﬁ‘{y=2x(i%)_
; 2j+k
AAYE: (a); ARG WO 10ms™  FACacst
100 m SwoT TS TR, X @B TR 0
CTCH0E 89 ©F m T, nx9.8
9.8n

=:-—-9B

2
t5

_g=0

E—l--m=nkg
T3

AqYH: (b);q=( _-r_,)wa%

. ( 273+27
. 273+227

= (1-2) x 100% = 40%

TAYA: (c); L2C-9q, (&6 AL, n, = 6; WEGH
A, n,=12-6=6

HAIYI: (b); 2
STAHA: (c); 5 M2 =

- v2 52
2g(1-cos B) 2x9, ax-

( fo +3)—1+R4

) X 100%

6% ~;
4= k= 4uF
mgl(1 — cos 0)
= 2.55m

AAY: (b); Reg =
i3 ANt _R _ 4R
_(E+ﬁ+§) +R”3+R 3

1
Wﬁﬁ:mﬁﬁw@;s=ut+aatz
>1=ux05+:x8x052=u=0ms"

FTAYA: (b); & = 2 x 0.1 x (20 cos 45°) = 10]

IRt

22x100x5.25 _
AATYI: (d), H _"——-—-T——- 500 cal

ST (a); P = Fv = 200 x 300 = 6 X 10*Js~*

SH-HHIELId : 20_21V-28 ‘

31,

34.

36.

5, i

42.

43.

48.

33,

54.

i

59.

60.

1

%X 10~°m?N ™!

1 2a1=1 1
= meN~' ==
3.0%107 3

693

ty
TAYI; (c);*ﬁ"ﬂTﬂ,t——L"——— 1000 A=

0.693 0.693
TAG: (¢); | = MK? = 10 x (?) = 250 kg-m?

101 101 . 111 010
AqEE: (d); L 1 l !
5 S w0 A 2
~(101101.11101), = (55.72)g

FAYE: (d); 500 mL Feet NaCl fawrar 117 g
 1000mL & NaCl s 22 g

117%1000 -1
=——— mol = 4mol .. BI<¥7El 4 molL
50+(23+35.5)

W: (CJ; P1V1 - Psz
=23X%Xx18=3.6X%XP,
W:(b);n=-:£[__
=>t=neF=(1x2x1)F=2F

3 2 1
FAL: (@); HoC= € — CH,0H

CH;
2-firiRe-2-c2Afom- -5

FHIYH: (c); pH = —log[H]

= —log(2 x 0.005) = —log(0.01) = 2

STNY: (a); HpS0, «F AR, MV = (22 x 0.1)

=P, =1.5atm

@ = (3% 0.1%98) g = 2.45¢g
TEH: (¢); An=2—-4=-2
K, = Kc(RT)A" = K. (RT) 2

AT (c); A = [—86 _45}

xiasne- Ll 3

Shortcut:A=[_6 ] e 32_30[4 g]
1[4

_5[6

"'A=[i ]!EEET ad—bc[d —]

FAY: (d); 3sec*6 + 8 = 10sec? 0
sec?0 = x¥A,3x* - 10x+8=0

=3x2=6x—4x+8=0
=23x(x-2)-4x-2)=0
x=2;sec’ 0 =2 x=§:sec29=§

3 s
=1+tan“0 =2 PO
=tan’f =1 - 3 1
stanB = +1 =>tan26=-3-:. tanf = +—
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61.

63.

65.

66.

67.

. NIYE: (e Oww ¢R); 2 tan~! % + tan™!

Shortcut: 3sec?0 — 10sec?0+8=10

: _ 104VT00=96 _ 1042 _ , 4
s sec? = = ====2
s sec? @ =2 ‘;ec20~-%=>1+l..m‘"*ﬁ=i
=1+tan‘0=2 B-'- ' 2
~tan® = +1 tan® =+ 7
[ 1 -2 3 ‘
A ()| 0 1 =2
-1 0 2
(1,2) O B RGN (—1)1+2 |_01 '22|

=-(0-2)=2

~ | =

1
-1 2%3 11
= tan 11—§+tan 'S =tan
4

ik =
1§+t::m 1

=

4.1

= 28+3 21
=tan~!| 5] = ‘1(—x—)
- ( -i'-xl) tan 21 " 21-4

= tan™ ()
TE: (d); A 8 B Wiliw wfox 8o e v
CICFIEAT Option-X Correct XS ATCH | {75 1y 7o
T a7 Rewrea g7 [ 57 e = 9
WL 92 STFITA Sfeete! A w2t 2l
e 7 2o A1 ©IE AT TG A = 0 992 B = 0

TAYR: (d); 2X — 4y — 9 =0....... ... (i) 992
6x—12y+7=0= 2x—4y+2 = 0........(ii)
+9 iy 34
= | = = 22 = 2L
” T V2Era V20 3x2v5 sﬁqw
=17 _ 17V
- Y = 3\,_)(2 —= A
—x 3*(1—3,“))
AATYIH: (b); hrn?'x 3*“,%1_.'23 “’W
1——57
= lim —&- =
x—ux:l-l'—-'—-‘r(s,‘J
ARG - . SRR
(b)"ﬂs-;+m Le= |1 169 13
va=13,b=12 ra>bre= 1—:—:

- B7ta9 (+ae, 0) = (£5,0)
HAA4I: (b); cos0 = E [cos B YAIGT EAMM 0, >F
41 594 SgEIs waf¥e 2a ) - tan 0 =1—52
0 5% TGS T, tan 0 =%
WA, 0 59 BEETA 2, tan0 = = o tan @ = + >
. 13
5
[

12

"\

.

-4 : 2030,

68. sz(b);y=x3—4x+4=-:—i=2x._4

69.

70,

71.

72,

22=2x—4=22x=6x=3

y=32-4x34+44=94+4-12=1
« ferafo (3,1)
Y aAB2%)
2 ANZE)
HAAIGI: (a); 5
X'« 000 »X
v

« AAOB = > X OA X OB X sin(£AOB)
=%x\/§x2 xging-:\@sin(g—g)
= \/'Z'(singcos%— cosgsinf)
SRR

= ﬁ(%—ﬁ,-_) -r‘laﬁm
=1 grrE foait gt 79 (0, 0)
(\/E,E) (\/_cos— VZsin ) =(1,1)

(2;) = (2 cos;,Zsin;) = (1,V3)

0 U 1
.'.Area—- 1 —(\f_—l)?’fkﬂ'ﬂi
1 J‘

Y (a); y2 — 4y —4x+16=0
2>y —4y=4x-16
Sy2—4y+4=4x-12

= (y-2)=4(x-3)

o Borlas #Ra ] 4a| = 4 WIS
Shortcut: S*fa= wa gy

_ [ IS b et | x @@ v
[ fi~wrs s et |~ |y? @aoen

IA: (d); (x — y + 3)? + (kx + 2)(y— 1) =0

o =2xy + kxy = 0 = (=2 + k) = 0 PR §
fAod=t Fate xy @A AN = 0] ~ k=2

-k

]_.4

TAYR: (d); 9x% + 4y =36 > = +L =1
[94TH, a? = 4932 b2 =9 »a=2,b=3]

~ BTG CRATE mab = 6m I WTF
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ST%]- STHTETE : 20210-28 !

WA

73. ANY: (b); AT (71 T, Y (b); 4fA, P(a,p) b x-3y—-2=0
= ~0)? = |xtt ra=3p~20......01
Ja-1D7+G -0 = | 2= Gl B wafge - o - 3P i)
= (x—1)2+y2 = (x+1)? wiarg, P(a, B) s A @ B faafl zs Faadh
=>x2+y?—2x+1=x2+2x+1=y? = 4x ~PA=PB= (a~-2)*+(p—3)?
74. NYE: (a); AR Ay = 2% o (1) = J(@=6)2+ (B +5)?
¥ = 4x.. . (i) = —4a+4-6B+9
(i) =24x> =4x=>4x2 —4x =0 = —12a+ 36 + 10p + 25
24x(x=1)=0~+x=1,0 = B8a—16—-48=0
- CFRF = [ (y, — y)dx = f(2vX — 2x)dx 2 0a—2B-6=0......(i)
. ER (i) ()= -3-2—-(-28—-6)=0
=2[,(Vx—-x)dx=2 %—-x?] =>-B+4=0:B=4
; GRa=3x4+2=14 - FHO ((14,4)
B(6,-5) i  AZ3)
x-3y-2=0
: P(a,)
e, y=tox=3t+2
4, /Bt + 2 — 2)Z + (t— 3)2
[a=1 m=2] =J(3t+2—-6)%+ (t+5)2
75. AN (a); f(x) = 4x* — 5x3 —4x% + 7x+ 9 S92 +t2—-6t+9
(x + 1) I ST S0, ST 2 (1) =0t? — 24t + 16+ t% + 10t + 25
P A = 24t—6t—10t+9-16-25=0
=38t—32=0:t=4
76. FAA: (b); ~rfEa o = /Sy
udy fy=4qRx=3x4+2=14
= 2 (1Y =
J12+ (-1) i):l-l\-/:}_x1+7 Ff (144)
=Vi+1-3+4+7 =10 93&
¥ Shortcut: 9FI@ (14,4) ﬁ"iﬁv‘ X—-3y—-2=0
77. ANYE: (b); ar‘g(a+ai)=tan‘1|§|=§ Cﬂ‘ﬂﬁ'@"ﬁ‘ﬂﬂﬁiﬁl
78. FAAM: (d); x? — kx + 9 = 0 GO T4 (L, =14-(3%X4)—-2=14-12-2=14—14=0
P E < 0% ~k?-36<0 80. IMYM: (c);|z—2|=3=|x-2+iy| =3
=a(k+6.)(k-6)l<0=:~—6<k<6 = Jx-2)7+y? =32 (x-2)2 +y2 = 32
g ) g GFT Tt 38 oM @ 932 93 &= (2,0)
[ o o i A N - --n-a----------‘-------u”.-q.
Vo “CRID5 ST ST (TR (2 IR (2166 (A BT WIS W0y ©f Wiyt \
il L]
A . &
-Confucius
L-"‘U“'---------‘--------- ----- ------------n--------------‘.
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gefaa. b0

AT 2022- 20 FXTEHIa
Eﬂﬁ@% y : s aa fafat

|

PRl are
aiiB vo 5 epe W | e 2iver B fite a1 el g
S 0.30 THA SO AT | (P YATTA PIEPLACH AR 591t A 11

e ——

BES
01. o (¥ SR TR 3PS "SI W@ | 12, Decoder @ n f5 2795 4 TG “Aler -
ST T e 9NE WA T COAAE? @2®  ®2F  ©@iF  @nh
@) 356 (b)d5eR (o) dvee  (d) SvvA 13. faesa i w-Afepere Azm?
02. fsa it &S weory 7T 737 (a) III (b) 34 (c)45.7  (d)537
(2) SFE  (b) (TSR (o) BIR () IBTH | 14, 1O S ATHRTE LTS FTSI SIoT FT AT?
03. 153 W IFAG ©%? (a) 2 (b) 3 (c)4 (d)s
@R (b) AR () BR () 92 15. R Trdm “Ifearza?
04. Tell me all about it. The underlined word is used here as- (@3d=5 (b)4d=6 (c)55=5 (d)4s=4
(a) Adjective (b) Preposition 16. (n— 1)d'ns? 3reagG &y EUG 1
(c) Adverb (d) Pronoun ; ” v e
05. Fill in the blank with suitable preposition: He O (i) dFe  (iii) T 21
blushed......... shame at his own mistake. fotea cotafe wfd?
@with  (b)in (c) on (d) to (a)i (b) i (c)ii,iii  (d)1i,ii
06. What is the synonym of "buoyant"? 17. @ SR - o
~(-a) Floa’tmg (b) Banish  (c) Bandit (d) Belated (2) NH,, NH, (b) H,S0,, HS 0;
07. IGCH P9 T- i b
(¢) HPOZ~, C03 (d) H,503,503
@R () R () (d) &5 18. 9% o z7-
08. @3B VPN OSI T0e0e/ it ? e
i Wi (i) p — p WaRGIT wf¥ess
(a) Of2a @7 (b) BT @ a .
(c) iz @ (d) ceB1 forg 3 () RS SR s
09. i afee orss 47 (iii) SPTefae SRt wiRewm
(a) 2 (b) 3 (c) 4 (ds ﬁm W’Iﬁ??
’ 10, mazgi T T @hii il @i (@)
(i) 902 012 37 Mz 77y 19. PR cvifb Wit sy
(i) BT 3t et g @A, ®Na ea, (g MgCl,
{’uljﬁfﬁﬂemqﬁmw\emm, 20, mﬁﬂmmﬁﬁmmww?
avy i ‘ g € 12,3 2,6
" W4 - fb)l;-;lm ©biii @i |2 TREE @ RS @i RS s
{i)%m%%m%qum TS 7w
(i) ST &t ot g ks ®) 3w
(i) e vt tofi 2wy spege (S ki (d) Bz
P comhs sy 2 5% NaaCO, WU vty v ooy
VR O @i g L (10470 () 0.047 M
S HRsE (d) 0.023
o SR \ / / | Y M e
i ML P — m‘
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23. A+Ba(N03); = FWI Wyt~ A A w40
vt T -
(i) 3T YT HC @ TS =1 g
(if) ST SYTFA HCL @ wApS T
(iii) HCI Caest Jwgw ooff &
e el 7w
@1, ii ® i (¢) i, i
24. pH I ¢t WRTS 395 =3-
O (i) FTIERRIN e
(iii) NIRRT e
fRse i Jfie?
(a) i, ii (b)ii,iti  (c)i, iii
25. 0.1 M HNO; ®RT1d pOH F%?
(a) 1.0 (b) 0.1 (c) 10 (d) 13
26. AB,(g) +§Bzcg) = AB;(g), I AH igs =3,
ez Rieies K, @3 93

(b) atm“%

(d) i, ii & iii

(d) 1, 1i & iii

(a) atm% (c)atm?  (d) atm™2
27. CH3;COOR + H,0 Kl Y ROH; X Gmaif6
HGFAC! TIZS ZF-
(a) NaHCO; (b) AgNO; (c) FeCl,
28. fEoIC AT (AF AT F41 -
(i) CH; — CHs (i) CH;COOH
(iii) CH3NO,
5 @A AdE?
(a) i, iii (b)ii,iii ()i, ii
29, FARTFICRLHA (@ @A G2
(a) SHAAGS (b) SiferTEfEs
(c) RBEFIEFT (d) ST
30. (CHj;); — CCHO @if6d [UPAC <
(a) 1, 2, 3- Grafada faarye
(b) 1, 1- TIRfAZe ZAFE
(c) 2, 2- GIRfAZA CATAFE
(d) 1, 2, 3- BrEfiEe e
31, EITSICGH d (FH0?
(a) P & T (V,n &) () Vo< < (n, T i)
(c) Vo T (n,P f#3) (d)Vn (P,TR)
32, Iyria wferaea 7 c4rEe FACS A (IA?
(a) 05 (b) 0, (¢) CFCl;  (d) NO,

(d) ZnCl,

()1, ii, iii

SPH- STETETE : 2022-20 ‘

34,

35.

36.

3

38.

39.

40.

4].

42,

43,

44,

45.

46.

100°C Srestamy @ | Arpredin sieet | faranans
SN AN G FE?

(@) 12L  (b)100L (c)1200L (d) 1701 L
@@ o emra wfaferg «“feam a9l nAw
Brerale fawyana?

(@ Li,Cu  (b)He,C (¢)C,Mg (d)O,N
fafaFarica K, Cr,0, wufd Zraaha azd aca?

(a) 4 (b) 5 (c) 6 (d)7

@ EA-3 (P IR AN A4 a2

(a) PTG (b) SCATE A

(c) TN o AMNYS!  (d) GAFAEHAE

Vo (SHEE CFA QoI |8 G | G774 (59 &%=
6v/3 T ATAT TS (I FS?
(a) 60° (b)45°  (c)90°
qI© qF GFF I F@A?

(a) @ (b)=a )  (d) S
30 kg SR 869 OO F© 99 ot w1 D
@3 @7 36 kmh™! 3% *?

(d) 30°

(@) 5N (b)98N (c)49N (d) 10N
I SF 6 W3R @ faedt 1 T O W9 Ao
[ AR-

(@ IW  (b)WEE  (o)feet  (d) vRed
(I SN T/ @ 2 ms ™! @2 51 1 J ==,
BEEACHIECE

(@)0.5kg (b)1kg (c)1.5kg (d)2ke
i I @t w97

(a) 5.6 kms™?! (b) 11.2 kms™!

(c) 22.4 kms™? (d) 28 kms™?
T <RI TP 1% I = g = 7w A,

SIRTE BoyrA S el g -
(a) 0.5% Jf& *iica (b) 0.5% I
(c) 2% 3% =@ (d) 2% PIT

R G GILIS (RIS 07T | m T BT @7
Wy 3e?

(a) 36 m (b)%m (c)6m (d)1lm
(0 T ST D6 (ORI T SITqa =1 (@rel-

() PRI (b) I () *FT  (d) LIS
SPTIAT 3 (AT NYGTEAR 97 o1 Ffeam-
(a) FIT “IRY (b) 3fa =it

@ ufRf¥o e (d) TS T FITE T
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47.

48.

49.

50.

51.

52,

53.

30°C wisrFT SRS < o9 AL
(a) 485 ms™" (b) 850 ms™*

(c) 380 ms™* (@548 o™
Rtz #ifR o1 TS AW 1 2 AATS 5 s ot
et <1 T A I P ARG Za?

() 5°C % T3 (b) 5°C 7148 T

(c) 4% UFTA (d) 0.5°C =148 I AT
ST CITCER #fd *Iite-

(a) SrETEA *If& ZFT AR

(b) ST I gfi “i

(c) o1t 3 #ir

(d) STt *f& Qa2 OIe™ @It ARy =3
1o AGHD A1 wrar @MW «aa g
R Foeg Z0O *ME?

(a) ST 1S (b) A& 2

(c) TR BoisT (d) SR o

a3 FAFOET qRFg 6 pFi €I (A W
a3 o407 (k = 5.2) ©RIEHE Gota T T
g F©7

@6pF  (b)15pF (c)31.2pF (d)331pF
96 S ARG tagies emm-

(a) TR BRATH CT1=1= T2 A 29T ~4r

(b) TFTBA BT CTRI= e A1 o =1

(c) NFC I 74 Bty 933

(d) FFToa 17 &S 7y

TG SR W@ 9o 516 G S Soid F 3e
ST ST 1 A B10eE T W 2 W3R it Yray
TG faedt <t 27, o1z efefl bree Bom e
T I T3- :

(a);

(b5

)\

56.

57.

58.

59.

60.

61.

62.

63.

64.

waﬂmwmmﬂﬁsﬁm@
fisfe ZreraGeTa *Ife:

(a) ST Sgor A ~AfE 27

(b) SIICeTI F=i10% TR “IfERf6e &

(c) SITETR #ifw A #ifefée 27

(d) QTSI Hifaafew T

93f (TETEEH RGBT 200 ST G Ty
-Gl 20 IF 60 I=A CARTT O g
SIRTIGIIT FORF SAMHE AP ?

(a)33&M (b)) 10&T (c) 25 & (d) 48 &ty
frewey SeE Gt TEARAIRTS 7@ -

(a) ST (b) AT G

(c) RS WIS (d) afEre wEHfaaR
fAtee oG efs miGa?

@[5 ° o[ 9

O @[ 7]

Wim= {1 ] o Mt qa m o
5 2 -5 -2
(2) [351] , ®) [—3 —1]
o7 2] o5 3
)lcl_l’.réex—x_}- 97 T D2
(@0 (b) o0 (©1 @ -1
M y = sin~1(sin x) T, ©F %x’-'- G T (FRG?
(a) sinx (b)cosx  (c)x (d) 1
XO® AR (=5,-7) QA (4,k) Rgba vag s
A k-99 T @EG?
(@) = BT ©F @@=
m tﬂ?[GFHWWZx-—y+7=OQ'<R3x+
my =5 = 0 QI 9f6 “rig =1y 30
(a) 42 ) (b) 6 (©)9 (d) 10
+3i
21 = PHiQ (P e QIR e 2x, Q W
T @FG?

OF (b)3 ©32 @7
© 7220 e B W e
(@) 7 ®F () = @=
A x2+x+1=0 M{ﬂ‘ﬁtﬁﬁﬁ?ﬁzﬁﬁm
(a) I @ 71 (b) AT @ WHTH
() SR @ wrr (d) 1% @ T
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69.

70.

71.

T4

. k-G WH TS WA, xF ~6x -1+ k(2x4 1) =0

A0\

£Pg]-STHTETE : 202320 ‘

75. ufs'”H;]:E'w,m(tann-i-l)(tanﬁ-!-l)ﬂ
st o i wnm wa? . ™ o
(a) 3 WAL 6 (b) 2 Wyt 5 @2
(c) 2 ST 6 (d) 3 St § () =1 (h) 0 (€)1
tan*‘é+tan"‘; QA WH @7 76. cos 0+ sin0 = V2 cos 0 %A, cos O ~ sin O &2 ¥H FE?
la)% (b= (©) ’—: (d) 3-‘-“ (a) V2 sin 0 (b) 2sin
20087 0+ 2V2sin0 = 3 WA, 0 93 W cwE? (¢)VZsin® (d) VZsin®
(a) 30° MA5® () 60° (d) 120° e LIET
R 7. 3P QA 2P AHHA K R 1 2w 49 e FAH
y=x+2 mx‘+y1=16mcqwtgﬂﬂ 7 JP‘ X "
T[T WG T2 “ffaniera faaet @ qomcma st e
@VTE  ®AVTE (2 (d)2yT (a)110°  (b)120°  (c)135°  (d) 150°
r¥ = 2yV3rcos® - 8rsin® + 15 = 0 OO AP | 78 qafd q0ei5 @it THTAECS 3 om (5% w0A 47 WHS
IC 9TH?
o Ut ara?
@1 (b) 2 ©3 (d) 4 G g e
16x° +9y? —32x - 128 = 0 Soigafba e (a) 1 em (b)1.5cm (c)2ecm (d)3cm
hadhihniad 9. [P qaam @?
(a) 12n (b) 10m (¢) 14w (d) 7 2 x2-4x+13 i ' .
x=3tanb, y=2secd A Wigen I (@3 (®) ¢ ©5 @
R @2 n
WLy - 80. [Zsin®xdx @3 TR @MG?
a)——=—= —i—=
9 4 £ 9 n an 5m ™
i r_2_ (a) = (b) = (©)= (d) =
Oer=c=1 (d)T-;-—l 32 32 32 32
TS S 1At 2033-20 9= TG
02.a |03.abd| 04.b | 05.a ] 06.a [07.¢ 09.¢c|10.d Fial 12.a 14.b
17.b 19.¢ 21.d | 2 25.4d |12 27.a B 29.b
32.2 34.a 36.a | 40.¢ 42.b 44.b
47.a 49.a 51.¢c' [ Ul S35, ¢ : 57.¢ 59.b
62.d 64.b 66.c | 1] 70.b | 706 | 72.b 74.d
77.b | 79.¢ |

02.
03.

0s.

07.
08,

[

AAGH: (a); ‘sFefG’ WMWWWI
TAAT: (a, b, d); fomf6Z Ao | @ amml o
TA4TR: (b); Preposition+Noun 407 |

TA4TA: (a); Blush with #e&13 #1e 267 |

TAAA: (d); *@bT" - 0 qae de-ga v g
FAHUH: (b); Open System Interconnection (OSI)
Aerea %4 76 1 7l- Physical Layer, Datalink Layer,
Network Layer, Transport (“f#4%) Layer, session

Layer, Presentation (&*1[%) Layer @a2 Application
Layer,

S (I elfEreb (beurd (VPN) aragd o,
©1 TS Layer-3 1 Network Layer & %76 3 |
LA b

09. FTRINT: (c); ™ =fé 0B 4 B ¥B Universal

il

Gate (NOR '8 NAND) @3 5% e o5 (X-OR '
X-NOR)

TUYR: (a); & ewa™e a1 Genetic Engineering
TS 93 Biological Sector, % wemalrer wviyway
Beoiivw, Genetically Modified Organisms @ &g
Beoiva wea T were afbay Wi @
¥y et w1, Ty wre TErRA, i e
Intra-race @ Extra-race Q2w e TR, Fifewe
e Y e (- wfie v @ THS (=t

9% SN (e
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12.

13.

14.

20.

22.

23,

26.

27.

30.

34,

M BT m—

GFTClrT ’:-‘v
S IBRrRT e  / I‘ \ 20

— T T T TR

33,

(ool et guae! A2), E. coli A GBIOR W&
Tz @ e ¢ e e ReR TormmR
I AT R A7 STALTA AL S T[] AR |
T (a); G0 ARAM AN A @ HTgey
Decimal I S A&OA single ST o A

Decoder &€l |
Input Binary Code
0

_O O e
L= B ==

Dy
0
0
0
1

coco~|lo~|O
o—~ool—|T

11

TN (a); G AT =rtoifd g Aemroisfe
=1 ffon 1S SRt @i gt v R e
FAHE: (b); FIOT STH 17 eye fower:
(i) *IRIeTe (i) @BTSB (i) oot 272w |

H

H\ //C\ -H

C C  rnww3f
TS (e); y: B T5 1268
B NSes ™y
|
H

STRAIT: (a); @08 5% 2, 5% (%)

1000w 1000x5
S=— T = Y :
w 106x100 0 47M

.o 10x _ 10x5 _
e s = ¥ = 105 = 0-47M

FAHR: (d); pH = —log(0.1) =1
~pOH=14-1=13
T () An=1-1-1=_1

2

K, 97 93 (atm) "
HI: (a); X Rl AT @ffre (CH,CO0H) |
FrfafEs e *Rreemd 5 NaHCO; IRZe 27|
CH,
|
TR (¢); ¢H, — C—CHO

I
CH,

TAYE: (d); PV = gm‘

N = WRT — 1000x0.0821x373
MP 18x1 k

(S 3 (H,0) @7 Wielfew 9, M = 18]
=V =1701.294L

FAHE: (a); 5Li = 152251

200U = 15% 252 2p6 352 36 3410 41

%mwmmlﬁww|

)\

36. ANYE: (a);

S

38.

39.

40.

41.

42,

43.

44,

46.

CH, — CH, _
c=c_
H H
Bt cafam-3
CH;—CH,  _H
C=(
' CH,~CH,

I ceofom-3
FAIG: (d); |A x B| = ABsin 6 = 6v3
A-B=ABcosO = 18....... (i)

......... i)

K L T
:-(1)-.—(:1)=:atan6—\{§-9 30

FAYI: (d); I IS = S Ao =
m(V — ) .~ M@l = [MLT ]

—4v__36km/hr _ 10m/s _ 1
R .(a),a-m- imin ~ 60s &

:-F=ma=30><%=5kgms‘2=5N
ANYE: (c); E oc my?

ms 2

my
B _ mpvi _ Six(v,)?

=2:+E;=2E
E; m,v? my xv? 2 1

AAYI: (a); Ey = -:-mvz s“m

__ 2Ey __ 2x1

=22 =05k

ve 22

AAH: (b); %mv2 = EM—Rm

=yv= f%“f = 11185.65 ms~!

=11.18565kms™! ~ 11.2 kms™!
ITALA: (¢); g = T3 - (VRZ, G '8 M &1

B =
LEX— =

1.02

-'—g'=1.02g=g+2%ofg
g=M_d_,4aR

ﬁw.g—-azag_zn

=>£g§=2><(1)=+2%

TAHE: (b); T=21t\E-'-T S n &FIF| [@F,

TR0 B @ < Bow g1 et )
Lmoon =E£n;'ﬂ1‘=i-
AL (b); Crpps = [22T

* Crms X VT & T 1 Cpppg 1
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47.

48.
49.

51

53.

57.

59.

61,

3RT

ANYA: (a); Crms = ke

_ [3x8.314x(30+273)
T4 32x107?

mmw:(a);aeb%_r“f_":—iﬁfsm
AY: (a); WOREAT *fF vy oM@ SR
e wdie, St T weRd e w
OR OFTE AGE TErRA fE ME @RG
CPTCTR #{T A S1°1 '@ SIeIar 0 T, @R
wersar =& ZFT AR |

FAHE: (¢); C' =kC=5.2x%6 =312 pF

=485 ms™!

2

T (d): F = k92 &)
(0 E k(1r’3 _kczr)z
rok? 1 o F
=F= r2x4x4=>F_§

FAYE: (¢);

200 gm 20 yr 100 gm ZUyLrSng 20 yr

> 25 gm
60 yr

FARY: (b); M afSws pifiH 2te, M = MT
A=[—0b . =[g _ab]*A
B=g —[}b: "'BT=[3 —Ob]=B
=[5, Yecr=lp Pac
D=[g _bb- '[—b b]*D
Wﬁ(h),MWZXZWI

- Adj(M)=
3 1
IM] = 2|_5i 6=t
: -1_,Adi(M) - —2
FMT =T [
3
ST (c); e* =1+x+—-+"—+£+ ---------
1+ +—+"3+"—‘+ 1
-1 _ el T -
=l :
2 3
i "(1":.**’;—."‘54?* " )
X-0 X
S14+0404040 e o=
faos: e*-1 DW@ e e &0 gw
}:1-133 X [E ]'};]_r.% 1 ’[*o ]

62.

63.

64.

65.

66.

67.

Wlﬂ?{‘ (d); y = sin~!(sinx) = x

2= -—( x)=1
wm. (d); x-1F TS (4,k) o ag = |k
(=5,~7) TS (4,k) 9999F
=/(-5-49)%+ (-7 -k?
=81+ (=(k+ 7P =/(k+7)*+81
opes, [k| = /(k+ 7)% + 81
=k? = (k+7)?+81
= k? = k? + 14k + 49 + 81
=k?+14k+130-kZ2=0= 14k +130=10

—130 _ —65
=14k =130 - k===

TAYH: (b); 2x—y+ 7 =0 G970,

= x| _2 _

17 yawt T -1
PR oSSR
3x+my—5=049dqbF, m, —yawt. m

ARG @G 4 &Y, S mym, = —1
=>2(-—%)=—1=>_f=—1 m= ___':=6
@™ ax+by+c, =0

8 a;x + byy + ¢; = 0 G 1 77 TH-
a;a; +b;b, =0

[@TFt@ a; = 2,b; = —1,a; = 3,b, = m]
22X3+(-1)m=0=2>6—-m=0-m=6

TR (): 2431 _ (2+3i)(2+1) _ 4+6i+2i+3i2
g (c)’ 2-i  (2-i)(2+i) 22-j2
__ 4+8i+3(-1)

_ 4-3+8i _ 1+8i _ [8].. A8
4=(-1) ~  4+1 5 'EI'“‘"Q"S
L

AG: (€); ~2 =21 @x=—2,y=—2
= I SR T FgSITet |
o AT SETTB = —11 + tan™? |§|

= —m+ tan™! |:—:‘ =-m+tan™'1

=—n+5=-§;5moption-\ﬂﬁil
QU TR ST = th-a—“;[nEZ]

sn =0, wrém?———
an= 190, WEo = =
Mg (e);ja=1,b=1c=1
~D=b*-4ac=12-4-1-1
=1-4=-3<0

& TERH SR Gibe A, W SRR T 99
A AT
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68.

69.

70.

71.

N BT

B |

T (b); x2 —6x— 1+ k(2x+1) =0 72. Y (b); rz—ZﬁrcosB—Brsinm
:sx:—ﬁx—l-l-ka+k=0 =|.‘,(,‘z_}_yZ)_2,.(5;,(_3},4_15:0 0
ax? 4+ (2k—6)x+ (k=1) =0 [+ = rcosd,y =rsin® « 2 = x2 442,
~a=1b=2k-6,c=k-1 -« Xy 2B X+2A4) y+IS=0
YA ANE A, D=0 = b? —dac =0 e o -
= (k—6)2-4-1(k=1)=0 g f c
:{222(1;—3)]:—4(1(—1):0 or=Jg + 2 = GTF
: 4(:{_3?2_4‘:8(_—1;):_00 = V3 F 16— 15 49% = Vi 4% = 2 g7
= k=-3)*-(k—-1) 22 73. N4 (a); 16x% + 9y? —32x— 128 =0
=>k2—6k+9—k+1=0 = 16(x* — 2x) + 9y* — 128 = 0
=k®-7k+10=0=k?-2k—5k+10 =0 = 16(x* = 2x+ 1) +9y* - 128 - 16 = 0
=k(k-2)-5(k-2)=0 = 16(x— 1) +9y? — 144 = 0
= (k-2)(k-5)=0:k=2,5 = 16(x — 1)? + 9y? = 144
W:(a);tan'1§+tan'1§=tan'1£'§<-§- :@+£=1.-.%+%=1
=tan‘1%zl=t.an'1§=1:ar|“1=E $ESR0S
~s s 3 ~ (FA% = mab 3 4T
STYE: (b); 2 cos? 0 + 2V2sin0 = 3 — 1% 3 X 43F 3% = 1203 9=
=2(1-sin”6) + 2V2sin6 = 3 . X=3tan0........ 0)
=2 —25sin?0 + 2V2Zsin@ =3 74. AN ) ¢ — 256¢0 e e (ii)}
= 2sin?8—2~-2V2sin0+3=0 Q@RI 0 “RIEGE
=2sin29—3ﬁsine+1=0 T (i)
= (V2sin8) —2(V2sin6)1+12=0 ) ¢ ]
= (VZsin8-1)" = 0= VZsinb—1=0 ORP IR R i) -
= VZsing=1=sin6 =~ (iii)? — (iv)? ITA AT, tan? @ — sec? @ = - - =
- 8=sin"1 (1) = 45° Si1=f_r.r_ Xy
Shortcut: 7% ST BT 3 g FPIAT, PSR | 75, 7IF: (d); A+ B = T = tan(A +B) = tan}
22 sin® 97 B (S 97 T IANS A, @F V2 TR tanAtanB _ o o4 B 1 — an Al
m,wﬁmrsin45°=%3ﬁﬁwm| 1-apktand ~
= tanA+tanB +tanAtanB =1
®IZ, 6 = 45°I = 1+tanA+tanB+tanAtanB=1+1
TR (b); x*+y® =16, T F@ C(0,0), = (1+tanA) +tanB(1 + tanA) = 1 +1
TP, r = 4 4FF ~(1+tanA)(1+tanB) =2
76. FNIY: (¢); cos O + sin O = V2 cos O
= sin® = (V2 — 1) cos 6
C00) TS x —y + 2 = 0 97 717 7Y, = (V2+1)sin8 = (V2 - 1) (VZ+ 1) cosb
CD=J%=%=\/NW [(VZ + 1) Wl odl )
~ AB=2xDB=2xVCB2 - CD? =,(J§+1)5m9={(m2_(l)z}cose
=2 ’rz—(\ﬁ)2=2\/4_2—-_2 = VZsin0 + sin® = cos
=2V16-2 = 2V14 933 4 cosO —sin® =2sinB .4
e '\ = it e R
_
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ofd TI/LP
77. FAYE: (b); ¥R, A = 3P, B = 2P @ ow7 wyrad) e a
2 (0T, R = VA? + B2 + 2AB cos a

= J(3P)? + (2P)? + 2(3P)(2P) cos a
= R* = 9P? + 4P% 4 12P% cos a
= R? =P?(13 + 12 cos )

= g— =13+ 1205 ... (i)

2R =,/(2A)% + BZ + 2(2A)B cos a
= 4R? = (6P)? + (2P)2 + 2(6P)(2P) cos a

= 4R? = 36P? + 4P% + 24P2 cos
= 4R? = 4P?(10 + 6 cos @)

R? =
:E—lo+6cosa - v (i)

(1) 8 (i) A9, 13+ 12cosa =10+ 6cosa
&~ 12 cosa—6cosa=10—13
= 6cosa=-—3
-:cosaz—%=—%=c05120°=>a=120"
78. STHIYH: (a); 4fF, SEITS TS @7, vo = u
1 u
.'-3cmmﬂ§@ﬂ,v=u(1-—5)=z
&9 FCAC% 3cm = 0.03m W4, v2 = v2 + 2as
=.(!2"-) =u -|-2a(003)=>-———u2 (0.06)a

_ =3u?Ch=p?

4 %7 024

= (0.06)a == o

I, SRS ST I v, = -
meﬁmﬁq
" 9% (S IR (A O, v = 0

viog _ o)

2a zx.__ui

da=

0.08m

5

oW, v'i=vi42ases

=$=0_01m=lcm

i-

(=3

04

""-.’1

]

10\

S~ STETHTE £ 2032-20 ‘

79.

80.

Y A A R S S SR S A N S S e .y ey ey

Shortcut: %w A% ArTe, S A

dem
- - £ e = 1cm

nf-1  2%-1

5 dx
FAHI: (¢); fz X—Axt13

5 dx
IZ X2 -2%-242%=4+413

_ 5 dx
- fz (x=2)249

_5 x __ |1 n-1 ]
o = e (5)

5 e 2-2
1 —1%=2 1( -15-2 n-1 )
= -[tan —-]2 = tan v tan " —=

=>(tan"1—tan™10) =§G—o) ==z

ST (e); [ sin® xdx = = [ 16:5in6 xdbx = =
fol;(‘q'Sins x)?dx = Ii-‘;f;:(B sinx — sin 3x)? dx

= %15(9 sin? x — 6 sinxsin 3x + sin? 3x) dx = 51;
f§(18 sin? x — 12 sinx sin 3x + 2 sin? 3x) dx

T 3_12 05[9(2 sin? x) — 6(2 sin 3x sinx) + 2 sin” 3x} dx
¥ 3—12.[;5‘{9(1 — cos 2x) — 6(cos2x — cos4x) + 1 —
cos 6x} dx

u
=§1; g9 —9cos2x—6cos2x +6cos4x+1—
cos 6x) dx

= éfg(— cos 6x + 6 cos 4x — 15 cos 2x + 10) dx

1 sin éx sin 4x sin2x
w L[N o A suss +10]
32 6
1 f-sin3n Ssin21t 15sinm
_E( s ¥t 3 +5m )
Su
- .“<5'rr—32
L 135 ®w_ Sn
hortcut: |2 si =——=—
Shorteut: [ sin®xdx = 7== 2 =

[walli's theorem]

“C2I5B AT AN (TR (1R IR (RIBG (AT BTy RIS ey o Wiz 1™

-Confucius

L.-..'.
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gfard: bo

S .80 TR FIB! AT | (I LA TIEAPLAGH AR eIl AL T

[ mmvoﬁmW|mmmmm|aﬁsﬁwm

01. fesa o ikt AR AT TARA? 12, @6 o1 e AFD B F?
(@SR (b) oS (c) 4T (d) TAeT! (2) 7B G2 T (b) 47 432 4

02. TG SNGARG-1, AR oww rerHHmifa (c) 21l G ST (d) Z7B 9T T+
SRR BT, N T G W | 13, o T R fereIeias WeDp MR ey

d) 64
ST BTl < T (a)5 (b) 10 (c) 32 (
(@) 9 (b) S 5 14. Bluetooth @& bandwidth 67
(a)’ﬁ@f i @ W 5 (a) 2 Mbps (b) 12 Mbps
: 5Mb (d) 1 Mbps

03. Fill in the !:lank with sullitfable preposition: The boy is. E::I"{ ﬁﬂlp; T FAE (“1,@ =, @ fm
is accomplished....... painting. 5
(a) on (b) in (©to (d) with (AT AT (I )

04. What is the synonym of “Abolish™? (a) (2,120° s Ej )

(a) Nullify (b) Detest (¢) (1,60°) : (d) (0,0°
(c) Despise (d) Miserable 16. 2 —2i @7 YA SEED (FMG?

05. The children were rushing about. The underlined (a) —3; (b) —E (c}E (cl)'g'%It
word is used here as- 17. o AW 9T G0 Siba 99e 28, O@ (1 — 0 +
(a) Adverb (b) Adjective 0?)(1 — w? + %) 97 T @HB?

(c) Preposition (d) Pronoun (@) 4 ®)6 ©3 ’ (d) 2

06. fts| @Af6 UNICODE 97 Twizdd? . < T g ST &

(a) ASCII  (b) UTF-8 (c) OTM-32 (d) Hexa i ; :

07. FIHEBIE GBS AATHITR elfefis 1w 17 s =utotidd) fe=w-giR=4
(a) COBT AP @s=ut=f(t-1) (d)s=u-3f2t+1)
(b) (STS @7 A 19. 96 %!l fFARY (A 2m/sec? $ G T I3
(c) =G H2f52 932 AfHe DO CTITT TS A WS F41?

(d) TBEARE T S (a) 4m (b) Sm (c) 6m (d) 7m

08. TR STFTH A5 GG CRILTY ofeewia eyt wAB? | 20. [ xInxdx @ AW QD2

(a) (b) be (c) d0 (d) o0 (a) 2 (b) = (c)~ (@)1
2 3

09. fT5a @M IAFMG w%? " IE o, Ll 1
(a) &S (b) WA (c) A (d) FAeTET + I T R D
(i) Therapy Notes 22. x*+y? —gx = 0 I TR WG CHEF (T 79
(if) Clinig (i) Care 360 ¥t aza?
fatsa comfe wfoe? (a) %ngz (b) %ngz ©) _;:“gz (d) g?
(@), ii (b)ii,iii  (c)i,iii  (d)i i, @i | 23, y2= a

, , i, C Y= 4x RS Boffgs P R ceift 6 T

1. FRAMIF 111011 (F AN Foiiaa 322 R Boitafirs g wvo?

@IB ()27 (3B (d)4F
@3V2  ®)2v3  (¢)10
L E (8] ]
N TR R

Z7.

28.

34

35.

36.

G [
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oiifd ST
24. tan® =X T, xcos 26 + ysin 20 €7 TN FA(B?
(a) x (®)y ©x OF
3 5 1
25. A=[4 0 2|, A, A- 2193 T @FD?
1 6 4
5 5 1 1 5 1
(a) [4 2 z] (b) |4 -2 z]
1 6 6 1 6 2
¥ 3 ~1 1 3 -1
(c)[4 0 2‘ (d)lz =3 o]
1 6 4 -1 4 2
26. A MIGIFIET 2 x 3 932 BB @ 3 x 2 704,
AB 93 &Y (FH?
@2x2 (2x3 (©)3x2 (d)3x3
27. = (cosVx) @ TR @R{D?
- —sinvVx —sinvx sinVx
@ —sinvx O)—7= O—F @O5F
28 lim &9 g7 17 GD?
x—d
(a)1 ()0 (©2 (d);

29. 5x+4y — 6 = 04aR 2x — ky + 6 = 0 TGO
A T A, k-9F T @52
@-: ®-: ©3 OF

30. 5—3x—x? FILMEDHA HES I @02
(a)3 ®5 ©F @F

31. sec?(cot™1v2) — sin?(cos™ 1) @ N FHD?
®); ®1  ©@; @3

32. tan~!1+tan~!2 + tan™! 3 G N @FL?
()0 ®)3 (c)m (d) 2

33. x2+y2+3x—5y+2=0 & TAwE (1,2)
fevre wfge ~pftes 7T @@L ?
(a)x—5y+3=0 (b)5x—2y—3=0
(¢)5x—y—3=0 (d)2x—5y+3=0

34. 8sin*2—8sin? 2+ 1 aF W HAM?
(a) 2sin?0 (b) 2cos? O (c)sin26 (d) cos26

35. 30 f5r oy faf¥(2 AB wred A &It 20 kg O& 8
B @IIta P kg GO AT SICR | A @it C e
faFarie AC @3 tidy 20 iR 2w, P 7@fod TH F9?

@20N (30N ()40N (d)SON
1
36. 6x2—5x+ 3 =0 STAFACHE TTeT a 8 f TA, ~+
%aammaﬁ?
5
@-2 -5 ©F @3

")\

SPq-STETETE : 2023-20 ‘

L7

38,

39.

40.

41.

42.

43.

45.

46.

47.

48.

49.

TG GFF (0?2

(a) g7 (b) €ae

(c) GA-CICFE (dy =it

e @t (@E?

(a) MLT-? (b) ML2T?

(c) MLAT—? (d) ML™2T~2

offerd vy Sfewia gaueE T\ 797

(a) ST (b) 9.8 ms™2

(c) ¥ (d) 4.9 ms™?

A SEE 0 ST WA TURFTA R 43 4R ZA
a1z qfoa I TP —

(a) 1:16 (b) 1:8 (c) 1:64 (d) 16:1
G CTRTS (IAE Al | m1 @ s i
25 A (TF (78 ©IF ) F8?

@12lm (b)2.11m (¢)9.11m (d)1.44m
@ 39 AfH?

(a) STSH (b) Apfes g

(c) TS 4T (d) tagfee &reen

ofteg T4 29 10 N @, 2 kg SF@E 9Ib IGE
10 ms™! ATt AfSHe FACO F© I IPE?
(@30N  (b)35N ()40N (d)25N
400 kg S48 1 m JFCET G0 A0 CIFF 2 ms™!
(@)2120]  (b) 11507 (c) 1120 (d)21507
I Ol SF7R A (@ IF faem B e 37
(a) SIF TAMITHA B1a  (b) SIE AT 8917

(c) ST YPMEI ToT  (d) Ol CFAPC 8o
G35 FCF AN 30°C, FITIRD CHE O3 TW FG?
(a)86°F  (b)8B0°F (c)73°F  (d) 68°F
P $AE AT A B 6 I T T
AfFBa I et s qR?

(a) Pifem (b) I

(c) A 6 B Te1] (d) CRTIBE =

i B q; W3R q, YIH SIFAW d FG FoW I
FOATE O3 SR 47 ferarier 3o == F ) 1 Siewa
BRI TIRAARNS $A0ea W 4 {8 93 waw
2RE F W, O TGH R I TA:

(a) F )3 ©7 (d) 4F
29°C SI*IA 3 gm TRLAIEH MTT (b i1 F9?

(a)204.8] (b) 402.8
(c) 302.8 ] (d) 480.8 J
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50.

51.

a2,

53.

54,

55.

56.

,

57.

58.

T e —

I ST S SRS R Qe A T Th
%) g Toiew et ¢ 97 T s v 3
«ft F o «ffoe?

(a) #if5e OKIEEET

(c) fRfesaat (d) CPITAIDBE 17

GFo S sy7eT aﬁww (P, V3, Ty, N)
CUTF S SIARY SRE/ (2P, 3Vy, T;, N) *fiefde
1 S e e o wiow?

@T=T, 6

©) T =6T, (AT, =3T,

AN 9F & WaR ifSn IRl Afere gwd
(a) ST et (b) &S veTg

© CRIFITETE  (d) @IABE 57

M T (o 3 Trss o e
Rerss?

(a) =TT (b) &5t .«

(c) st (d) FTAIBE 77
TSI RS A1 G wéeRarEie Ry
MIECECEECT R

(a) TTTGw (b) =

() FTIGT @ FATSIR (d) RPICAIDE 7w

G AR T o1 e qateT @B Aeiree b1
e | e fagfeefm st @M sidew?
(a) TG AT F=TRGA “Affew e gramaiie oy
(b) AT TC (T oG IS FrATS e 2H
(c) AR 7 2= caifB Ftoe Frrefis o

(d) C2ATB 194G (AT AT 0T Firafs 20
500 CST%5 97 ATy (P2

(a) BTCEE 4 Fo1¥ 2 2000 Gt *ifs

(b) &if 2 F=17 1000 Gt ifes

(c) 2fS 1 Fo1 B1E 500 T ifis

(d) Tz Faeren

e affremt FErGTrERT @femm et
(T |2

OF (b) cafSe Breara

(c) 9¥-31 caifiey (d) TRFreTHS wrey
WﬂW@MWWWﬁMWWﬁWWW
ST 3R SR AT tofy 777 97 & (I AfS
AT ?

(a) &SR (b) ST () Arfonra

T,

®)T ==

(d) TS

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70,

™

PbCl, st #iifAre wady g Mee ifire -
(i) @ft soiEmR (i) (MR
(iii) =T *If& > Q3w *fe

fAeea ottt #fSe?

(a) i (b) ii (c) iii (d) i, i
AR 70 ZCARGA AACE- 72.
(i) &FIZE (ii) 79 4Igrs

(iii) (I& vTF
s oS Af%?
(@) i, i (b) i, ii
3 R T TITS TN

(a) NaOCl (b) NaOH

(c) Na,CO, (d) Na,C0;.10H,0
10% NaHCO; B3tsi9l S=[@l % GIae?
(a)0.30M  (b) 0.119M (c) 1.19M (d) 2.38M
CuS0, (s) + 5H,0 — A; Beo A Esifes "
(a) s e (b) =T fefhear

(c) 7w felea (d) AWy =] -
fafoe sieeitem armafie wm 9

(a) TR FZCACTRIZD

(b) FTEEN @135

() FIEIRRIN GIRRZASEES

(d) TR @rAR3eEmes

RO W P QRIS RUE N

= fFe?

@ () TR (c) FFIIT

12.5% NaOH ®4teq pH ¥%?

(@) 1251 () 13.51  (c) 14.53
JYET GFF Y

(a) mol Ls™1 (b) mol~* Ls™?

(c) mol L1 g-1 (d) mol~1 -1 g—1 |

(d' - d°) Gt Tz -

(i) FET et o157 ==

(ii) @fbeT G oW T

(iii) eror weet v v

57 Al w2

(a) i, ii G il ()i (d)i, i, i

@M afiefoa Siget @fi ¢

(@) HS03 (b)) HNO, (c) HNO;  (d) H4PO4

S 9% oifde - g

(i) 41y '8 SYIga Nryy

(i) TG SWEIRE “iidiey ot zgeT

(iii) JETRGA SV &R T

ftsa e iy

(a)i, ii (b) i, iii

(d) i, i, jj;

(d) P

(d) 15.51

(d) i, ii, iii‘|2
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Tl SPADIRP W ) \ P51 STRTENTE : 2022-20
71. @1 QI Frerera wefer i@t o 76. foesa cotafB (-2 a7
(a) G (b) ceftifeyrer () NHCO ~ (b)-C-0-C~-
(c) AT (d) caitsiizs (c)=C=C~ (d)-C=N
7. A5 B BB, A @ B iy - 77. CH, -‘cr-:zFH(cn,) ~ CH(NH,) — CH, e
(a) CH30H & CH,Cl IUPAC #:
(b) CH30H & CH3CH,Cl (a) 3-&?1&?1—4-311&5117_ AT
(c) CH3CH,0H & CH,4C (b) 2-S7ifsrent-3-frarza cAeBa
(d) CH3CH,0H & CH3CH,Cl (c) 2-frenZe-3-smifaa ¢
73. SEEIEA G A48T z=- (d) 4-sfaa-3-feEa e
(i) == G o107 ITF 78. 9IS S A YRR BArel frafae 2 G i T
(ii) IR A 5197 T (a) CEBTR 5171 7@ (b) SAGATET 7 %3 &
(i) RSN creTer i | (c) R @ (d) AMeTHF 7
e @D AfSe? 79. R S @ AR B WG argfes T
@iii  O)iii ()i (d)i, i il SR Efara 1fa 20s M !
74, [Co(NH;),]** STEifBTe (e R iaefits 7707 (o) T (b) SRR T
(a) +15 (b) +3 ©)+5 (d)+9 (c) Srafraif &< (d) TEfag @t
75. C,Hy CoH, 6 CH GIMIGTATS C — C 357 oy | 8O- a3f5 FfWE St I 5191 e € oo fagd
IS X, Y 8 Z F(E- I 321 = TS LI
@X<Y<Z b)Y<Z<X (a) 2083 7 (b) *4a fagdt
©X<ZI<Y dY<X<Z (c) A @I oA (d) CRICABL 77
G ©fS ST 2033-39 97 TS
(S
0l.a|02.a [03.b| 04.a|05a]|06.b|07d|08.b|0%e] 10.c [Ile] 12.a [13.¢]| 14.- | 15.a
16.b | 17.a | 18.b | 19.b | 20.¢ | 21.d [ 22.b | 23.¢c [ 24.a | 25.b | 26.a | 27.b | 28.¢ | 29.c | 30.d
3l.c|32.c|33.¢|34.d]35-]36.d[37.b]38.¢c|39¢c]40.- [41.d|42.d|43.a] 44.c [ 45.a
46.a | 47.a2 | 48.¢ | 49.- | 50.a | 51.b | 52.a | 53.c | 54.c | 55.a | 56.d | 57.a | S8.¢ | 59.c | 60.-
6l.a|62.c|63.b]| 64.c|65¢c| 66.c|67.c|68.d|69.¢c|70.d|[71.b]|72.d|73ec]|74.b|75.d
76.a | 77.b | 78.¢ | 79.a | 80.d
[smm syuabus] 08. FIHA: (b); FATAN S sTeveTR de B
. RPETS ACATE | O O (NG CRIHITER HLAT 35 B
03. HMY: (b); Accomplished in = W | [ 4R (0); (111011, — ()
04. STIYI: (a); Abolish (RTeT#1ar) @7 Synonym ZCell @ai 1o . (111011), = (3B)
e —— R 16
Nullify 3 11{11)}‘k
05. SI4IS: (a); Preposition AMCFT ATFAT CICT BT | 12 spoppet: (a); B—bl C, (carry)
4 O Adverb T #fanfie 2 Cri TS (sum)
06. 3T14H: (b); Alphanumeric code: » Output T sum 8 Carry
ASCII-7, EBCDIC, ASCII-8, Unicode eri®) @)
UTF-8 13. STYI: (c); fraprea n 2990 2w 2" 6 Output Line
Eg:gii S| - n = 5 O}, Output 7T = 2" = 25 = 32
it 14, 4is: (16 B9 R); 7w BG4 T 1MHz
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15, T (a); U@ X = —1,y = V3
ar= ’x2+y =2 -x<U|Y>0
- Rregfb 37 vgeie RS |
~8=m—tan! E—I =mn—tan"1V3
=n-I= %“ =120° « (r,0) = (2,120°)
16. FRIYA: (b); 2 — 2i TG, x = 2,y = —2
2 x> 08y < 0 faem, 32 5pd v wafge|
WWN’%, 8 =—tan™? |:'—c-| ==tan 1= —%
17. 3R: (a); (1 — o + w?)(1 — w? + w?)
= {1+ 0?) - o}{1 + 0. w) - v?}
= (o0 - 0){(1 + o) - 0?} = —20(-0? - w?)
= (—2w)(-2w?) = 40® = 4
19. IFRI: (b); S S, t O T AT 77,
Sen = u+3 f(2t— 1)
=0+:x2x(2x3-1)=5m

20. FuYE: (c),f xInxdx

= _lanXdX _l'{ﬂm-x—]j':i:tlx}clx]fE

Ve
= lnxx-——j ){xzdx]e

1
— [¥n _[®mlx 1_ Ve
~La "‘f’“"‘] ‘[‘T‘EX'{I

2(\!") Inve-(ve)*~2x12In1+12

4

[2x? In x~x2 ]
4 1

1
Zeln(ez)-e—2!n 141 zexline-e-2x0+1

4 =& 4
_el-e-041 _1
- 4 T4
21, FI: z — (3 (=sinx)dx
()’r1+sinx 'rD (1+sin x)(1-sinx)
_ (]—slnx}dx = 1-sinx
-"’0: 1-sinZx 0‘ cos?x dx
= L 1 __smx
-J;;(cos’x -r:-u;; cosll.)dx
= [f(sec?x — secxtan x)dx = [tanx — sec x]g
=tan-}-—sec§-—tan0+sec0
=1-V2-0+1=2-y3
22. TA: (b); X2 + y2 — gx =
= %2 -2y . B g g g)?
-2t (g (0
g 2
(=8 4y - (9 <0
2
Ly -8 2 =&\ .
2= 0 om0 ot -
 CRQPH = 2 = o (B _ 1
ﬂ() = 1mg? 3f gz

EETEE ) \

3. FAYE: (c); y* = 4x, W-Pﬁ"ﬁ@ﬁh

24.

29,

26.

i

28.

29,

TI-HAHS - QOQQ‘%-

6% b
n62=dx=x=—=9

n pﬁ'&ﬁm, (X;Y) = (9,6)
2 = .= 4 1 x T, T S(1, 0

« Boeapfae g, SP = /(9 — 1) + (6 —op

T3 = VB2 + 62 4FF = 10 9%
yz
Shortcut: SP = a + x, =a+;§

=1+ =149=107F
FAAIYIA: (a); x cos 20 + ysin 20

1-tan? 0 ( 2tan® )
=R (1+tan29) Ty 1+tan?@

2xZ
+yx :Li;

xx(

+
2.2 zy
"_QL

xx(xhyz +y>( X% 4y2

2 x2

—

1-
1

MRS

X
(x’+y2) xi!+y2 &l x2+y2 {(xz I Yz) ¥ Z.Yz}
X(x2+yd) =x

(xzﬂ*)
3 5 1 2 00
W:(b);A—21=[4 0 zHo 2 o]
1 6 4 0 0 2
L. ‘5 1
=[4 -2 2]
] 2
"1 1 31
2x[: j
FAIHI: (a); T

Same, ©1% AB wq

— TR T 2x2
d(vx)
dx

[cos

AY: (b); —
-sirw’_

= —sin x =
\E vx 2«'

AAIL: (c); llm ““"2" M s
o _1 e 2x-2x0 2x
(ZI:I:TO 2x )x2=1x2=2
TR (); 5x 4+ 4y — 6 = 0
AT, my = XRW_ 5

yaaut 3
2x~ky + 6 = 0 @7 v,
m, =-—M—_ 2 2
yaas - o kT g
W’Wﬂ"ﬂ?'{tﬁ Mgy = <4 3,

:"‘X-—=—-1 o . _5
4 k :2!{ 1"k"‘-2

sin~12x
R

X2

"A1X+byy+c, =0 g azx+bzy+cz="U
Wm.ﬂﬁz‘l-b;bz=0=>5><2+4X(_k)ﬁg
S10-4k=0=10=4p . =20_5

BEE R '@
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30. A (d); 4fF, f(x) = 5 — 3x — 2
F(x) = 0 — 3 — 2x = ~3 — 2
f'"X)=0-2=<=2
AN =TS, FFX)=0=-3-2x=0

=22x=-3. x_._i

T s, f"(x)<:0 W Q32 T4y R, J_ J "'—"2 - J_ J_

“tan~'1,tan"12, tan™? 3 EIF 0 WS T¢
stan“'1+tan"12+tan"13 #0
stan"'1+tan"12+tan" '3 =n

33, ITMEA: (c); 06 % (- 3,) @ A

f”(x)>0?@ltﬂ=lﬂ.f”(—g):_z(o @Ee(l,Z)ﬁ@ﬂ@Wﬁ’rmsﬁ
5
'.'x=_‘:-cwf(x)wl — 2-—3 :.ﬁ:i,‘.WEﬁ:—é—:S
1__) 243 5 =

f(x)lﬂ?’fﬁﬂmﬁ=f(—§) o =g ARt y — 2 = 5(x — 1)

=5—3(—§)_(_§)2=5+2_2_2o+1a—9_29 =:'Y—2=5X"5=35J(—y—3=0
, 2 o, & 2 4y? Sy+2=0
™1 f(x) =5 - 3x —x2 = 5 — (x2 4+ 3x) ™t (1,2) fre x2 +y2 +3x— Sy + 2 =
. =it AT
=5—{x2+2x.3+(§) ]+(§)2 e
2 2 2

g ! x-14+y-243- (x+1)_5 (y+z)+2 0:
=5+;—(x+-£) [x —+xx1,y qyyl,x—r%,)’—»

3 2
2
¢ (x+43) 2 0 [ g 2%+4y+3x+3—5y—10+4 =0
= f(x) 99 A4 T = 5+__g_£w=§ =>5x—y—3=09 B
:: 34. WY (d); 8sin*= — 8sin*=+ 1
Shortcutzmmyma,(:c—ﬁ:S—% ) 2 2
<2 = - 22 _ . 22
—5+—-——[ c=5b=-3;a=-1] 2(25111 z) 4.(231n 2)+1
= — 2 _ —
31, ST (c); 2(1 —cos9) 4(12 cosB) +1
3 cs1.J5 =2(1-2cosB +cos?8) —4(1 —cosB8) +1
ser:- (:Ot _p =2—4cos0+2cos’0—4+4cosO+1
e 5 = 2c0s*0 —1 = cos20
s -1 2 :
= (seccot™v2) ll":ﬁ Shortcut: § 3 LI M 473 option test I
e -11y2
a2 = A TR0 G T
= (sec sec_l ‘/%) lﬁ - 35. IAAYiA: (ﬂﬁﬁmﬁlw’{)' AB =30 m,AC =20m
Gkt #BC=(30~-20)m=10m
—(sin0°)? ¢ o
W g B_c I A
ﬁqn:: 2 2-1 in?(cos™* 1) l 10m| 20m v
' sec (cot \/f) — sin“(cos P hg-wt @ 20 kg-wt
= 1+ tan?(cot™1v2) — {1 — cos?(cos™* 1)}
1+ 2(t 11) 1+12 "'P)(AC‘ZOXBC
=1+tan?(tan"1—=) —
V2 P_z""“’-wkgwx_mxgaw 98 N
. 1\ 1413
'“'(Ti) =l4g=3 36, YA (d); a+p=—-—==2
¢ Fakepse =1 -13 6 6
32, IMY: (¢); tan~? 1 4 tan~! 2 + tan 5
1 1+2+3-1-2:3 -1 6-6 C(B i l+l=£+—ﬂz-§-=§_l=.§x2=5
=&n” (1—1-2—2-3—3-1) =tan (1—2-5"3) 8 RO W e 3
=tan~'0=03n 37. FAYA: (b);P=¥; G W a7 935 J; t @
_ 1 X+y+Z-XyZ
["‘ tan‘1x+tan‘1y+tan 12 = tan 1-1:;-?— AFF -'-WLQW ]s-lwwan

@ CamScanner


https://v3.camscanner.com/user/download

7\

1

EPF1-IHIE : 0%y, \|

¢ o)

st (1% BEA (R); ATFIRD, 4y

39, ANY: (c); 8 =8 (1 -—% 60.
% i e e BTG ARG FLLA o Ty,
-g(1-7) =« DR i < Y (A |
e W’mﬁ?m@” e 61, FAYE: (a); NaOCl fFraers fZita e ¥
wmmmmﬁmn@womméwmu jox __10x10
a1, ST (d); CRTFTCRS CRIFTTe T, = 505 = 5 62. IIMIR: ()i S = = Z341412416%3
' - - LI — 19 _ 119M
=ats 1 Z"J; 63, uIT: (b); CuSOs4. 5H;0 — A ot
T2 (2.4)%g _ (24)%°g _ -
Legt=Sr =g (1.2)% ZnS0,. 7H,0 — 7l fea
=144m [~ 1] FeS0,.7H,0 — 3% fefa
43, are: @); F = Fe +2 % 10 64. ITaT4I: (c); Ca(OCI)Cl AT
= (10+20)N=30N @AZIZCATHIIRG |
44, T (0); By = 2mv? + [w? 66. STL: ()3 S =~ = 10022 ~ 3.125M
. B i G +g)m? [?)}:1_]—= ?'lig: log(3.125) = —0.5
=llumv2=f-x400x(2)2] pOH = —Jog[OH™] = —108L5. T,
p: & pH =14 —pOH = 14 + 0.5 = 14.5
==X A0 R4 ] =1139] 68, STTEIR: (d); o S dt — d° RCRG
o By = 2mv2 (5 + 1) fféiE et SRged G|
=§><400><22(§+1)=11201 69, STIYM: (c); A A SR SR I
45, STRIYI: (a); SPTZ AGA MG Bof fRSa 30 o cafft @ | N 3% P R ST T !
45, s GEe R M B a5 S P (A (2B 2T HNO; AT e
5 9 5 9 +5 +5 +4 +3
o F— 320 = 237 HNO, > HsPO, > H,S03 > HNO,
5
. ST (b); SHFCRRGTR Brerm faere
- F = (54 + 32)°F = 86°F. 71 (b);
47. FIHE: (a); Fikca & QST CF, e I R s rl/FreTerR T SR T
PCls N
203 Co1Cet AMfPeTE FTe B Al | 72, A (d); CH, CH,OH - CH3CH, C1 — CH;
e | L FsSnrpiongngd Prast —CH, —CH,— CH
48. FANIY: (c),F—MEnk = k=4 sF - 2 21y 3
ﬁw;%=k=?= 74, YA (b); x+0x 6 =+3 2 x=+3
5(3 75. FAEA: (d); X = C;H, € — CTH 0747 0.134 nm
49. FAIYA: (I T8 AR); Ek:;(z‘a' RT (d); 2Ha n
£ 3 Y=C,H, C—C3Fq"Y 0.120 nm
= 2x 2 x 8314 x (302)] = 672.543 ]
. 7 =C,Hg C—C3%A g 0.154 nm
Sl‘ Wm: (b); 1¥1 — PZVZ P1V1 = (2P1)(3V1) CH NH
L T, Ty Tz I - | 2
ST, =Tyx6=T == 77. FREA: (b); CH, — GH; —CH—CH —CHs
59, FRYA: (c); PhCl, SRS TR Gt 1 e ARTS | g0 sppeg: () ot = 222 = 202 = 1%
cafsa e i > @ 1 iR PhCl i e e
— 1
et wA1fce Swaar ) fag o wifice sifa Swet 22"'2'
SR i G o o, TR I > a =3l
=16 *Ifes Qe #HfAre TIqA | =V, =2 .V, = 6V, [ored 6 1T
5 AR prm—r=—

N ETEE ) -
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WA (575 A
MCQ *13r! fate

wmﬁvoﬁmmuwmmmmuaﬁmvmm
& 0.30 T IO IR | @F AR WEPAS AL w4l WA )

430 4t OMR
AL T Tl
QR carefS %W

01. ‘Why are you doing this?’ — Change it into passive
voice.
(a) Why this is done by you?
(b) Why is this done by you?
(c) Why is this being done by you?
(d) By whom is this done?

02. Find the pair which has same relationship of
Program: Software-

(a) Pointer: Network (b) Pointer: Cursor

(d) Pointer: Mouse
03. Choose the correct preposition in the following

(c) Pointer: Monitor

sentence- I agree ........... your suggestion.

(a) at (b) on (c) to (d) about
04. ‘Souvenir’ *t%d AfFSITF *% FHG?

(2) CTAERT (b)) TGN () AR ()
05. “SBTACE (FIF GICT A2

(a) T@AR (b) SRS

(c) SR (d) TrE

06. fTaa cemid sTid =% wa?
(@) 2mts () AR®A  (c) (Mg (d) STRRE
07. (1 fEfere MG 95 ¢ SCHB A -

(a) IS (b) oot
(c) T (d) TF TG
08. (3D.C6),4 + (506.47)g =?
(a) (184.62)g (b) (184.60),¢
(c) (182.62)4 (d) (182.62)g
09. TR ATTLIA FO-
(a) 0.7 Mbps (b) 0.2 Mbps
(c) 0.3 Mbps (d) 0.5 Mbps
10. 5 3-BRAR Rrsreia Seo25 iz Fub?
(a)8 (b) 16 (c) 32 (d) 64

11.

12.

13.

14.

16.

17.

18.

19.

%4 optimization ¥7CS foea =S gama =n?

(a) TGN ST 0T A

(b) T1ZA IRG (716 F41

() GeI5TS T #fferrda =11 Fi

(d) &f9 compress #41

ABC + ABC + A 47 79aI%a9 ZAl-

(a)A+B+C b)B+C

(©A+C (dA+C

< ol Type = "i" >@3pfbana= Bist frca F @
FF THAYE oo Ga (e o S Tm?

(a) IIL1II .... (b) a,b,c....

© 1,23, ... (d) IR 778

IR FIZT € TP G2 i a7 7047 o =
(a) SO e

(b) S AT

(c) o7 R w4

(d) SR ~Hfeade Pt oz =

1.0 atm BIC9 30° SPNAE GF0 AT WIS
0.5 L 2051 % SIAT@I 2.0 atm BT 04 WS
Fe TA?

(a)05L  (b)025L (c)25L (d)25.0L
0.1 M NaOH B(sid pH @9 Y« ¥97?

(a) 11 (b) 12 (c) 13 (d) 14
A YT AL G TGS ?

(a) &1 &R (b) AR &1

(c) d-ArefE S (d) S-wefie o
8 '8 (7% NEH IW @ AT TAWH?

() ¥ (b) Sfiry

(c) fFEBifm (d) ufes =Ry

R - CH; - Br+ NaOH(aq.) » Tesm: ffeFaa
eI 12

(a) TF I ffe efsgrom

(b) e afegem

(c) Srepre fafesat

(d) verare fafer
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20.

21.

22.

23.

24.

25;

26.

28.

29.

30.

31.

B

27

-- ,I \ A\
T — 52, NHj @ PHj SO AT cwl? -
- ) c)sp 2. A
:‘?:f;: (4)080% (©)008% () 0.00% 33 %s%mm (ab:)agt@ TG wﬁt;;;d%
p5oC SENIE W FReE @l 10 g/L A TS TGS T .
600m1.ma—<c¢fwmm=fm? (a) ST (b) T
@4g ®6g (©8g D38 (c) TICBE (d) ZTSIE
aﬁwﬂﬁﬁﬁommwwﬁm' 34, orff sTrafeE 26e1 1A 7 GTTPTILRA (T TS iy,
17 TO3-
(a) o =i (b) ¥ i foras TneT
(c) Y7 A (d) 43 =N (i) ZTRGTTE G0 TG TS A
S R pifi SO l? (i) AP AT 27 I
(a) 241 T (b) AR (i) 4T el g AT |
8 . S feea 1A Aow?
© e @ieii  (Biigii (©)ieii (diiiej
oA CoTw O TEE A @ AR O AT | 1 g oy 2R
2P | BT F A2 (a) PHs (b)H,0  (c)BFs  (d)NH,
(a) FefFa (b) CEIT 36, @3 RfFmes o Som a3 [ fe
oeifde 2a efFafiee @ -
(c) “ifEG (d) TG 77 . 3
G REIERIE] ? (a) €IS ST HTGS &SI
s (b) SO (c) F-2ON (d) = &SR_=
:a; :{?}z @ Hr:o3 37, TGN 2SI T e GFBTE Saiad [
c 2
- ESIEREE
@ aferailt o3 A ReNLa @) 99 9 -7 g (b)qf?a’ivna
() P il (c) Toifafee AE (d) SE-&4 =H
(c) oo (d) et 38, w72 FISHT A0 ~iil FS?
e BTt Cu, 0 «F A1 SYETHA (T3~ (2) 10~ m (b) 10-5 m
i) sEfEaET (c) S (d)107°m
: 39, @EfFTER e Onae @F Hed FRA F?
(i) Fafie afiie (iii) Yoo AN s 1
a
fesa A Ao+ ? il
it fom o
@ieii  (b)iieii (c)isii (d)iiiQiii S;;ﬁéam i
Cu?* W (Gt CPID TI9R® A (d) T frea s iy e
(a) K,Cr04 (b) PbCrO4 40. T 6 FALAE NGIS! (T 0 T FANGS e 16 T
(c) T Bl (d) NH;OH (a) 180° > B = 90° (b) 180° = 6 > 90°
100 mL 0.1 M Na,CO; &3td F© &N Na,CO (c) 180° < 6 <90° (d) 180° < 8 £90°
m;n s il 41, STRPEIER (S0 C1RA TS - ’
' PTAS- 2 A RITF 3 TRARSL
(a)1.06g (b)10.6g (c)2.12g (d)2.65g ;‘:1 iﬁ}:m
g il (b) FsTa-Bff Tie Ry e a3 HeARTE
(a) HCIO,  (b) HCIO; (c) HClO, (d) HCIO et sl s
FITYITE 1 mol Cu 4P &1 409 CuSO, BT PO () e 5-§ﬁ['~5ﬂ{“ﬁ X it @qe TRAE
FIRITE Rye B! T I? o o T e
(a)1F (b) 2F (c)3F (d)4F (d) IR 7 __’J
AT X ’Nﬂ“'
3'6 i R Il \ o WWW

y

@ CamScanner


https://v3.camscanner.com/user/download

4. %0 T G EF = 51+ 3] - 6k N =1 etcaist

43.

45.

46.

47.

48.

49.

50.

51,

150 @SR 90 Y2 @R 100 m T/ SINE ©F

F1o X-5F IJ9E 10 m 3T CFFT | Fetiz S goanrey
397
(a)30]

(b)S0)  (c)-60] (d)15)
G (AL 74T SfSTE Gae g @3-
(a) TS (b) Tfera Targeifes

(¢) TR TIAST  (d) T31eiiTS

LTS TS AT AT e (el ey a6’
©Id Cofdl 2| U2 TS OITad GEICENY IS () (A7

(a) 15 (b) 30
(c)7.5 (d) FRHE 77
fATea (I 5+ Ja?

(@P+Q+R=P+(Q+R)

(b) m(P+Q) = mP + mQ

©P+Q=Q+P

(d)A.B=B.A

m SEd GF 383 A& E 7 93 st 3992
@mVE  (b)VZm E (c)VZmE (d) mE
@5 [AoAreT A St 2t S erei@ 200 K
| B (ATF O A A O (BRI MF | A4
S T ZO AE? [OF RF 2520 J &% I
S1ZE@ 3780 J TG ]

(a) 133.33K (b) 300K (c) 0.0075K  (d) 1K
> T (A (e 20% I F0e @3
Fiea Gy T &9 TS A?

@ OHE  ©F @3
w5 B (A AR A @A g W sirdera
G2 SERATOd g S o fHepe T
I, AT

(a) &1 &% (b) Tt wa

(c) IS B (d) AR T

I ZE ST (/T #fife St s «ie
AGFIE ORre 10 @ T IATNEETE A
105 Nm™2 o1 e ool 97

(3)91.84m (b)40.81m (c) 100m (d)50.81 m
57 @Al cofme 874 @7 [ (ITE
(e ?

(a) 1000011110100 (b) 1000111100

3.

33,

54.

55.

56.

57.

(c) 111101010 (d) 702 %

58.

59.

10°C Gemama 5 kg Sat 2@ 32°C SIHH

Bifre w0 @hfa s e Za?
(a) 41 G® (b) WS
(c) W 41T (d) 29 ere] TG H2a

0°C S G@ AE A617 F87?

(a) 0 (b) 0.40 cm Hg

(c) 76 cm Hg (d) A

Q3 T @A e Sagm ¢ st FdE
Sfrser GIPe IR ACF FAFe T
SO (RID Z0S A Al

(a) e oS! Ao

(b) THRCTIE S5O IS

(¢) T2 sfrore! S

(d) @ 7

BT St e A e (I $EE =TT
IS FACS TA?

(a) RaG g Fifses (b) 7ot e Fface

(c) [ais @y FRAE () T G @A
40kg '8 60 kg S 6 I¥ IS 10ms™" 8
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ool n(le +e€¥) p . i @ @n+1)mn€Z  (b)(2n+ D3 e
(a) eXqp—X (b) eX4e—X (C)‘ eX4p=X (d) eX4p—X (c) 2nm. n € z (d) (21’1 + 1)1-1-
6l. y=xy=0 a3 x?+y? = 64 WAl e GFSIC ' vhE
SR CHCAT CHATE TG INQIE? 72, @I FEAA FEE y-SOF A 3 g -
(a) Bm (b) 16n (c) 4 (d) 12n 2x + 3y = 5 @A TR 7| @Afow ﬂﬁlﬁq% FaT
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3
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07.d | 08.b [09.¢| 10.c [ Hle] 12.d [ 13.;a | 14.c [I5.B
16, 22.b | 23.d | 24,a | 25.a | 26.b | 27.d ﬂ:d 29.a | 30.¢
[31.b ) 32.c [ 33.d | 34.¢c [35.c| 36.d [37.b | 38.b | 39.a | 40.b | 4l.a | 42.b | 44.c [ 45D
46.¢ | 47.b | 48.b 1 49.c | 50.a | 51.- [ 82.a | 53.- | S4iec | 55.d | 56.b | 57.a ‘sa.a 59.a2 | 60.d

6la| 62.a | 63.a ) 64.d | 65.a | 66.c | 67.a | 68.a | 69.a | 70.c | 7l.e | 72.a | 73.b | 74.b [ 75,2
76.¢ | 77.d | 78.¢c | 79.a | 80.d

0l.c | 02.b | 03.¢c | 0d.c | 05.a | 06.4
[16.¢ | 17.b [ I8¢ | 19.b | 20.b | 21. b

1

1

Short Syllabus 42, Tz (b); W= F-X
03. Solution: (c); @Wﬁﬁﬁmmmame to 9| B (Si b 3i - 6ﬁ) ' (IOT) =)
12. STAM: (d); ABC+ABC+A=AC(B+B) +A 43. FAHE: (a); TEF T L x gl
=AC1+A=AC+A=AC+A=A+C 46. FMYH: (c),E-— .p=v2mE

@™ AC+A=AC+A=AC.A
=(A+CA=AA+AC=A+C

T 0
47. TG () = ¢ = 305 = 3520

Q_1 200 2520

15. AN (b); 1X05=2xVsV=025L T, = 300K
16. FAH: (c); pOH = —log[OH™] = —log(0.1) =1 | 48. F4=: (b); T, =Ty + 'r1 =1. 21‘1, 2= J%
~pH=13
21. FE: (b); 1000 mL BT 10 g 7iet t—j - (':,—i = (1.2)?
600 mL = (75 X 600) g =144; (2-1) = (144-1 =2
Ly 25

&9 (mnnx 600)g=6g

_ 50. FAYE: (a); PV, = AV,
27. A (d); (—CHO) &F% AR FRCH ARG, =105 x 10 = (10° + hpg) x 1
T TS Jrrer cler wand SYeTwe (7| o p e Ska0®
0 9.8x1000
EARTET: (R — CHO), Fafie afie: H — : “on, | " "
(874)10 = (100001110100)3cn

53. I (fde Tea oiR);

+h=9184m

CHO
H—— OH 4.58 mm Hg = 0.458 cm Hg
. HO——H
Ty on 56. STIY: (b); 40 X 10 — 60 X 5 = (40 + 60)v
H —— OH
CH,0H sv=1ms™?
2. FTYI: (a); W = et = 1,06 8 §7. I: (a); dsin® = nA; 3 sind = A

31. FAYA: (b); Q = neF = 1 x 2F = 2F

32, IYE: (c); NH} QF ALHARH
=>(V4+X—-C+A)
=>(5+4-1+0)=4=sp’

= sin® = NnA = 6 = sin™*(Nn})

5896Xx10™'°x5000
&0 = sin"l (—-————__)
1x10™2

59. VWY (a); Zaf = off + By+ya=-z—

60. TIYI: (d); < [In(eX + e
PH"G?WIW=1(V+X—C+A) (@; 5 In(e* +e™))

- (5 +4-1+0)=4=sp’ " e"+e‘¥-c.l_x— (46 eX+ex

N T ) \ e
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61, JNYE: (a); x'

\.l
(=T oqar Wil <far Jeen Wit it we|s eyt
WE IR WITE)
m=§><ﬂr2=%xnx83=ﬁnﬁtﬂw
ﬁwzncqummw nr?

rxu ”

o % o R JOSE oRr = S = Bn 3 aw;
[~r=28]

62. FIHN: (a); %2--}--"'-’;:1;9: 1_3_%;
'Gm=(iae.0)=(12x-ﬁ 0) = (+v2,0)

[ =4bt= 2]

63. STNIYM: (a); ("3+x2 8x+4)

’dx ax

—5x3x2+2x—8=x2+2x-—8
axX24+2x—8=0
ax=2—4f"(x) =2x+2;x= —4 T,
f'(—4) =2(—4)+2=—-6<0
e = S 4 (—4)2 - 8(-4) +4 =2

eIz, be=1-vV2=vV2
- &A= S (0, +be) = (0, +V2)

Shorteut: y? —x? =125 -5 =1
~a=1b=1

- 37 @3f6 WreE ufegs, - e =

» Botem = (0, +be) = (0,+V2)

65. FAAHI: (a);
J cos®xv/sinx dx «f7, sinx = z
= [ Vsinx cos?x cosxdx - cosx dx =dz

il S B

= [ V/sinx(1 - sin®x)cosx dx - 0
- f\/E(l _ zz)dz z=sinx| 0

3 7
_ |z z _zzg 2zi
aatl b e o Kol 7

2 2

n
j;f cos®x vVsinx dx

66.

67.

68.

69.

70.

71.

forey: _[5(:053:: Vsinx dx
- I;Z!\/sinx (1 — sin? x) cos x dx)
= j{?(sin x)i (1 - sin?x) d (sinx)

= J'E(sln x)ii d(sinx) — J'E(Siﬂ x)irz d (sinx)

[(.lnn)i*‘]* [(,;")r ] [ [x"dx = ---+cl

-+I -+1 n+1

a2 2.l
3 7 21

HMY: (c); tan cos~ ! sin cot™! E

= tancos™ ! sinsin 1

3
cot' %
3

4 4
= tancos™ 1;= tantan™?!

Q 0O

cos! sin 1 = |

apoos’ e

O s @

(1), (4) 72 932 (2), (3) 2 TFA Cofunction UFTE
TIHAIC I1 A O Tew A1 (37 (4) TR TEGC

o | w

__3
=ty

Shortcut:

SRS FIHFG A= (TS 1)
wmm:(a);(k"z 4)=0 = 9(k—-2)—-12=(
=>9k=30 k=7 k__s'

W‘(ﬁ.(a),a+[3—5,u[5=5
aad+ 82 =(a+B)® —3ap(a+B)
=53-3x5x5=50
IAY: (a); P A 920 W I 7R a
a3 fRrvre ferariie ==,

~ 9@, R= 2Pcos—=2x4§xcos oy = /34T

FAAY: (¢); Asxy X Byxs
» AB YR TV T 3 X 3  Option (c) T

1 4 5 6
ﬁrqr-w:AB=()(4 5 6)= ( 10 12
3 12 15 18
W:(c);cosx+als—x=2
= cos?x+1—2cosx=0
= (cosx—1)2 =0 =>cosx=1
~X=2nmneEZ s
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Sifd SPIAILE
. FWAIR:(@); 2X + 3y = 5 QAR 7Y @9 wieqer

':_l‘t

73.

74,

75.

76.

3x—=2y+k=0......(0)

a9, ()3x — 2y = =k

"_:'E'*% = 1; 20T, y-Siw e, =3
~k=16

(i) = TR A=Y, 3% — 2y + 6 = 0
Option S ©&F 3x — 2y + 6 =

Shortcut: (Option Test); Option @3 (a), (b), ()
HAAAAGTA, 2X + 3y = § 9T TN 1Y g (a) W2
Option-4 SR,

3x=2y+6=0 =>:x5+§= ;

o TR y-SCw Al 3 g

« Option (a) A5

A4S (b); 4f¥, f(x) = x e

o f'(x) = xe* + e*1 = eX 4 xeX

fe”“x dx = [ £® ix

xeX f(x)
= In|f(x)| + ¢ = In|xe*| + ¢
A (b); TAR (0,0) TS 3x — 4y +5 =0

= [3:0-4-045] _ |5] _
WA d =" =T = 1977

NPPRCO R |
RN (a); 2P~ 2P+8’
[ e wreifeaf$e e «rs:
W (W
(““::)wm - (*“ﬁuml
1 P
S =-——=P+4=2P:P=4
1 1 1
ANHE: (¢); a b c
a?—bc b*—ca c*—ab
1 1 1 1 1 1
=la b c¢|=|la b ¢
a2 b%? ¢2| Ibc ca ab
0 0 1
=la—-b b-c C
a’-b? b2-c¢?2 ¢?

")\

0 0 1
—| a—=b b—c c\
—c(a—b) -—-a(b—c) ab
[ci=c¢c, - C2,C = €3 — C3]
0 0 1
=(@a-b)b-¢c)| 1 1 c
a+b b+c c?
0 0 1
—(@a=-b)b-0|1 1 ¢
—c —a ab

=(@-b)(b—-c)[0-0+1(b+c—a—Db)]
—(@a-b)(b—c)[0 -0+ 1(—a+ )]
=(@a—-b)(b—c)(c—a)
—(a—b)(b—-c)(c—a)=0

77. NG (d); 476, TN T

7 1
sa+3=->2D2a=-=
2 2

-'-mﬁm=>3(}2-) =f.k=3
Shortcut: 2x? — 7x + k = 0 @9 @ I 3,

78. Y (c); % (sinVx) = cos&%(\lﬁ) = c:i,_f
2 xZ
79. FAMY: (a); );_4—.% =1
2 2
L-5=1.a=6b=8

- Berafagel, o = I1+5’E,-
82 64 8

80. INYH: (d); 51, m = —E - TR Bl = 2;;

2
4

TR W (y +2) = 2 (x - 3);

= y+2=3§-%=3—;"—y—-%=0
23x—2y—-13=0

Shortcut: 3x -2y =3 X3 -2 x(-2) =13

=3x—2y—13=0

= 36 9 3 P AR, 2(32) - 7(3) +k=0=2>k =3
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02. TWAVE (I LTI I ? — ol
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3. ‘Delegate’ T%a ARSI 1% (IA0? @)
03. ‘Delegate’ *ITHS AlT® 13. Web browser T a3f5-
(a) FHAM® (b) Eerer (a) 6T (3G (b) a<f5 BT (©)
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- sroefD wrapiETe @ AF? _
(a) Earth: Geography (b) Earth: Geology _ )PV = (c)
(c) Earth: Biology (d) Earth: Anthropology (@ PV = (d)
; . & : : © TVY! = &3F (d) 73 =B .
06. ‘I know the fact’ — Change it into passive vVoICe. i 24 @
(a) The fact is known by me 16. @D EEFFcEeEa FPT=ma 7T 2.51 = o
(b) The fact is being known by me Storgs e 2Afs swE 300) W A= m @
(c) The fact is known to me e SEER G 2f 5l IRE S ¢ ©:
(d) The fact is known S{frIel PIe A PO A7 25. 3B
07. (A¥ B+ C) BC 97 aefierae el- (a) 120 ] (b) 240 J @
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(a) GCFTCHA (b) feraTera (c) TS (d) TFEO T S i elfefie 72 :;_:
27.
09. fATER G FEHIER Gy AT - (a) 15 kWh (b) 150 KWh .
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6.31x10734 6.31%1.6x10-19
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(a) 9341J (b) 934 MeV
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(a) FET (b) PNP
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I m\ 7&% 5 rads~! @ st e fo-ife 7o
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a0 e ararerm wat w1 af 70 1 #fe < w0
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33. e fags Ta0S Fe R T Ted TS
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34. TRFIN G EIET GEE F0F F57
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41.
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16

(-8,3) 432 (2,1) Rt AT (11,-1) 4R | 53, =+ B
(k, 0) famgeirl ARG A A k 97 WH (a) W7 () V7 (d) 4
(a) 6 (b) 5 ()7 (@ (@) (£2,0) (b) (0, +2)
TR EDRTEEHRIRECTE | oo (@ (0,42V7)
?
w:{ aamw; , - ™ tan_1%+m-1§=w?
@5 ()7 ©3 . @73 O} ©F (d) 2n
Ei% _::; e , 56. f(x) = cosx XA f(COt-IE) 97 A FO?
X ax = Zx x
@ gy Oy @~ Do-a (@)3 b)3 ©3 @3
y = tan™1 2 7w =07 57 60° CaTee Tue V5 @@ ST 7B 1 907 o
(a) - 1+sz (b) 5 fxz Oz @ ']':_xz' (a) 25 (b) V15
y = x3 — 2x2 + 4 THEIA (2,4) Rre fFe © V10 +5v3 (d) 10 + 5vV3
=i @7 A 57 @62 58. 24/5 @2 3 WA fols @ @M oo &
@4x-y—4=0 (b)x+4y—-18=0 frare | «q1 AFE S R FAE &4
(©4x—y+4=0 (dx+4y+18=0 RS NTS! (I T 7
[ e*(secx + secx tanx) dx 99 WF F97 (a) 30° (b) 45° (c) 60° (d) 90°
(a) e¥secx + C (b) e*tanx + C 59. e QNER ARMETes AR o I =
(c) e¥secxtanx + C (d) secx+C A B U7
4x? + 25y? = 100 ToqE AR S CHGR CHRAT (@) fEGT (b)) TG () TR (d) ST
Fo 37 9FF? 60. 30° C ST @1 ST GRTST 5.0 g/L T 4
(a) 10m (b) 41 (c) 25w (d) 100m il WWWWWW
J; i 0 99 T ¥0? @4g  M3g ©2g (@Sg
(a) 1 (b)5 (¢)In2 . (d)?2 61. Cu?* SFa Taee Sf4® NH,OH T3¢ st $
5x% — 6x + 3 = 0 FRAH T a & BT < + 3 3 512 =?
7 T @AG? () TEST A (b) MO A (c) IWR  (d) T
@ o2 ©)2 @3 62. Wﬁfmﬁ‘ﬁﬁﬂ e T &y I3T7
4x? — kx + 5 = 0 TwAH G35 o1 oo e R
(a) #IfReTIR (b) =
0 k 97 W F67? Y -
c d) GEISITO!
(@)3v10 (b)vB0  (c)2v10 (d)VI0 - @
3x2 — 6x + 1 = 0 TAFIAR T o G B A = G i (AR RUeE SR
1 e (1) Cu ™ (ii) Zn** SIRH
Emﬂﬁﬁq FEG? (iii) Fet* S+ |
(@)3x2—6x+3=0 (b)x?—6x+3=0 e mb i __
(C:x2+6x—3=0 (d)x*—6x+1=0 @isii  @isii (c)iiwii (@i
y* = x* = 1 Sfegelos MRY 2T IEFO? | 64. ol B @RIZT €7 SS?
(@) (0,£1)  (b) (£1,0) (c) (0,%2) (d) (+2,0) (a) CCl eCh
i Le 4 (b)SnCl, (c)SnCl, (DF
2 ( ) 4 /
ﬂﬁaﬁmmﬁ’ﬂ'w

4
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Vo \

SPq-STHIENE : 202022

[Fe(CN)s] ™SR PN RIS B 90 gt iz

65. 5 \ 73. SATP (% *It77@ CAIAA TSH TS 0197
@sp’  Ospd  ©spd  (g) gigps 24789 L (d) 2414 L
. P RRFA P GO 50 114 S 2, i (a)224L  (b)244L (c)24.
S OITE ORI G SR 1 g s |/ T oo ¢l 2
% SRS & IE? (a) CH, (b) HCHO (c)HCN  (d) CH;0H
(a) HTT ASS (b) HNYF ersraws 75. fouva coaf Brramrerza?
() TSI (d) W2 erera (@AICl;  (b)NH;  (c)R—OH (d)H,0
¢7. 1M NaOH 8<t¢d pH 99 IR §%7 76 meww?
(a) 11 (b) 12 (c) 13 (d) 14
6. 7TEA Ja AR S FYI[A R I Ay Tofmi? (a) CO, (b) CO (c) SO, (d) 50,
() ¥R (b) Sifira 77. RCOONa + NaOH(Ca0,®%) - A + Na,CO3; A
() foBIfam ORGEET IS 1?2
40, foTAAITCa (PG ATH? (a) STTEAFE (b) FETEFE a7
(a) 6-10% CH3CO,H (b) 6-10% C3H,OH () ST (d) TEEEEE
(c) 6-10% CH3COCH;  (d) 6-10% CH;CHO 78. WAIRRGS AR TGP
70, SRRSETCO, & ATt 7 ()Na¥rgI@E® @ (i) PCls SCATE &0
@03%  (©)0.03% (c)0.003% (d)3.0%
71. 095 atm DICA| 25°C ST @ oyorg wesy | L) e T S
40L T BF SIT@ 1.0 atm 5Cet S5 Sy fiea o o7
7o TA? @isii  (b)iiGiii (c)iGii (d)i,iie i
@038  ()039L (c)0.308L (d)3.8L | 79. 250mL 0.1 M H,SO0, ¥t ¥ &1 H,S0,, SIZ?
n. @ q;?a T3 “IffFd DO @7 Z;EW‘T 2 (2)245g (5)490g (c)298g (d)9.80g
(1) (i)
(i) @‘ﬁg@m - 80. fof @ rores eetl-
fa R Afdw? (a) ©fe fraey (b) TEREAT AR
(a)i@ii (b)iiGiii (c)iGiii (d)i,ii @i (c) e wfRreay (d) S4TSR AR
TS SfS *rahaT 20393 92 FAYE
\Enicf
0Lb{ 02.b [ 04.d [05.b] 06.c [07.- [ 08.a | 09.b | 10.c [ 1l.c] 12.a [ 135
6 17.d 19.a [ 20,d | 21.d | 22:b | 23.a | 24.0| 25.a | 266 27.a | 282
3a32.c| 34.c | 35.a | 36.d | 37.b | 38.d | 39.a | 40.a [4l.a | 42.d [ 43.a
d6a|47.a [48.c | 49.c [50.a | 51.b [52.a | 53.b [54.b| S5.b [ 56.b | 57.b
61D 62 c [63.a | 64.c | 65.d | 66.c | 67.d | 68.b | 69:a | 70.b [Th=]72.4d |
\'Hﬂ c [78.:d] 79.a | 80.¢c
E
0. Tty (%f< Be ¢1%); (A + B + C)BC I1. FWI4IA: (c); (DADA)y6 — (BABA)6 = (2020),6
~AB.CE.C [De Morgan <7 7] i
=0[CT=0) 16. W:(a);K:ﬁ:W:%aW:%:uV:lzgl
S WA v e .. N
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,I \ -1 QOQb,h

38, 4 (d); A=3X3;B=3xX2%R, A4p

cwea wicEd N T 5y
| " (s aafd o AR | AT X |
18, TILH: (b); SFGRBFTE T = CFI 39, w: (a); 12k~ 12) = 1 (k=3) +1(4-2) ,

17. FNMYE: (d); =£;x 10 x 6 = 0.9 kWh

wHre fire «fea offgsret |
ﬁmﬁm -y zk_lz_k+3+2:2‘k“9
AD _ 5000x1071%y 53”""“ »~ 3
20. HNIYE: (d); Ax = x,‘éﬂ-J xx10 40. FNUA: (a); GAG = lﬁﬂ?| &
21, AN (d]:Q=hfn=fn=.“ 3-1
162 Q= Ir..:uxl.(mln""’ 41, A4 (a); -2 11- k Ll
=631 xhl-ﬁaz 10 2- = TeeIx10-1 [+ NG CAITA CF0R BT A7)

22. FEINIS: (b); AE = mc ) k _—
_ (1 % 1.66 X Iﬂ-zr)x(3x108)2 42. mlﬂa: (d), x-mm(i )mm I l
= 1.494 x 1071°] = 933.75 x 10 eV @32 (5,k) ¢ (2,2) feqacma 1ag
= 933.75 =~ 934 MeV - ‘/(5 —2)2 + (k- 2)2

339 84f2]1] : s
25, SR (a); =06 @t A, /(5 — 2)% + (k= 2)? = [k|
0011 IUIl 1001 =‘}(5_2)2_*_0(:_2)2 = k2
=(001110111001), . 5 <

26. FNHE: (b); 9FF: Js =29+k*—4k+4=k .-k=7
A W@ = ML2T™2 x T = ML2T! 2 O -4} (x2)=x2 L2 q)

e 5. i) | T O alim) =

27. ANM: =(=i +-— - X1 Z

i ] }'] _ (e -4)x2x-x?x2x _ 2x-gx—2x3 _ -8
==, k- o = = 2_4)2 = 2.4y = (x2_a)2
hdxx+dyy-|-dzz_1+l+1_3 (x 4Jd <=:x4) 0‘-411
— ] E— - L4 » -1 _‘-— B

28. STAR: (a); A x B = B x & [t @] 44. FHH: (b); a(tan =)=+ @tnx)
’ [ B = - ks 2 1
~-BxA=BxA=2AxE)=0 [-.-2tan 1y = tap-1 _’;2 =2~

= BAsin8f) =0=sin6=0.0=0,1

dy
45. FqYE: (a): = = 3x2 — 4x
30. EEILIEH (8); Ek = %[mz = Zlmrzmz ( )’ dx I(x,y} X

=-X2%x1?2x52 =25] Efa‘*)ﬁwm‘“r'fmaw,
’ 31. TAT: (a); E; = mgh = F.h = 300 E, = 70] wley=3%22-4x2=12-8=4
* Ejoss =300~ 70=230] (2,4) ﬁmmwm'
33. FEANE: (b); T o VL - L o T2 -4 =4(x-2) 3y-4=4x—3
34. w‘(c);T=2n\/§=2n -E:m Sdx—y—-4=90

46. STIYI: (a); J e*(secx + secx tan X) dx

= e%secx +C [+ [ e¥{f(x) + f*(x)}dx
=elfx)+Cxy GR QYR

f(x) = secx zr= f'(x) = Secx tanx I

1
f=;= 0OHz
35. AR (a); E, =§NKT

3
=2x ;X 1.38x 10723 x (273 + 27)
= 1242 x 10721

47, st Bt
36 TR (0); 1% 1 203t @ Wt sy | T 3 5+ = 1 Sty v

PTG A WA | =mb=nx5X2=10n 3 gz
37. IRR; (b); Al=0= (k- 1)k
’ -2)—4 = 48. ——
=3+ 2- 40 g e TR (0 17 7 = D1 4 1203
o Ty =1010=1n5 = 1n = 1n
ﬁ'qma[ 3 2x dx
311;2'6?" 3;1::'?? L= e f:d(in|1+x2|)

( ‘ --":[1n|1.|.x2|3_____l N _
- immw M I3=1n10 In5=1n2
,\ o A
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51.

53.

54.

55,

56.

N o o o o o o o A A N A S S - DD, - - -------------,',-

GG 05 @01 eFge| T 1 R W O (At i fidy 932 Freng

4
. _k_, 3T _k
4, WO 3a==—==-

: (b); TR @ R BT - @k 7 A
ﬁwm;x=§=a=§
+ o % &G TR T
2
=3(3) —6(§)+1=0= X ~fud 3= 0

. Y (a); TMERT = (0,+b) = (0,+1)

[@30, b = 1]

sl Pl 8

[441TF, a2 = 9,b? = 16]

TAA: (b); e = /1-%:5

B9 = (0, £be) = (0,4 X 7) = (0, £2)
[@1A, a2 = 12,b? = 16]

=tan”}(1) = 7

TAILE: (b); (x) = cosx . f(cot™3)

o (o o

1,1
A4 (b); tan™! 2435 = tan™!
1——)(5

2

- 0 . —13) =3
cos (Cot 4) = CO0S (COS S P

T @A GTB1R 47 |

P\

£P-STEHTE ; 2020-22

57. 4 (b); R =

58.

59.

60.

65.

71.

79. SAYN: (a); W = CMV _ 0.1x98x250

JB + () 4 2.5 V5 - cos60”
=VI0+5 = V15

faresy: p (e A AAd CRoa, A R 20,
R=2Pcos§=2><\f§cosf':—a=2\f§(g):‘“—5
fapent; 60° el 2B 7 7 P e #AA 7,

R =3P = V3 x V5 = V15 9%%

TAIL: (d); 2,4/5 GaR 3 WA fealt 77 SEAA
[T AT SUTAG IAFCAA A 2 Gord 1
-'-32=22+(\/§)2+2-2-\f§'c058
=9=4+5+4/5c0s0 = cos@=0:8=90
AAYA: (¢); [1H oFre ks 7% OIR electron

Hi5e Te)

FAYI: (c); 1000 mL @ 5 g 713 BoAFS
400mL\ﬂ(Es£x 400)g@"ﬂ:&€= 2g

FAYHE: (d); Fe(26): 1s22s%2p®3s23p©3d°4s?
Fe?*:1s%2s%2p®3s23p°3d°®

REC TR S

CN~Gfb 4% fEime, ©IR Fe?* @3 fRreme oG
(e7) e (&Ml tofd TR

[Fe(CN)g]* — 1s22s%2p®3s23p©34d6

4s 4p
[1LIAL 1) |:cn |:cR] [:eR] |:eR [ieN [icv ]
o ) P

o [Fe(CN)g]* @Fe @3 3zaW d?sp?
TYR: (9% $83 GR); PV, = BV,
=2095%x40=1xV, =V, =38L

1000 245g

- - U.-‘

-Gabriel Garcia Marquez

A A A A S A S N S A A S A - = oo o)
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ACGH (570 SAFIA

wﬁf—f:qﬂi‘maoao-zaﬁsﬂ?raﬂ oy

: STere: 80 fAfS | 431 coirara OMR

Ay Tl e

mmﬁ@oﬁaﬂmuwmwmﬁwwmf@fﬁww ) "mﬁmm
T 0.20 FHA FIO! YA | (1A YATTA FIEAPCAD A Tl A0 =1 0}{ .' E 15 7

12, 203 A G ACIA F© Sl AT g,

Short Syllabus 2 Wm@mﬂa’ﬂm@?
01. “WRER SHTIEHE Wfe! &7 (@) 11 (b) 12 (c)13 (d) 21
(a) CNIRINW SIS T2 (b) TS TAWIGE T 13. 27°C @32 230°C SI7AIEMAEA T4 FES @z
(©) CRFEEEF FEN  (d) ToIe Bl WI=EW 11 2 Ffrwel 203
02. “SIEI (F9 4099 AH? (a) 20% (b) 40%
@SFE  (D)FTF (o) U (d) AR (c) 60% (d) CFAME @
03. WS *rer T * 7 (PG ? 14. 4T CHLE (PTG ANGF?
(ﬂﬁ (b) A= (c) Ffe (d) wrEAr (a) W = %VCE (b)W = %c]z
04. Find the correctly spelt word. 1Q 1,2
(a) Adulation (b) Adlation ) W= zC ey EV ¢
(c) Aduletion (d) Addulation 15. 40 @Eed 936 S G tacds faed ¢ agm=or
05. Our task had been completed before sunset. Change CFOTE ST 4] 2 ©E6d @Y =2-
it into active voice- (a)2 0 (b) 4 Q ()80 (d)16 02
(a) We completed our task before sunset. 16. ma- Toy BT (s fTafed I-
(b) We have completed our task before sunset. (@) 0° (b) 45° (€)90° (d) @I F
(c) We complete our task before sunset. »
(d) We had completed our task before sunset. 19. GRAIGR SHERT 125 T 25 T oW <
06. Select the pair which has the same relationship of Ff1E GoArT T@40eT T St S A0E?
GRAIN:SALT @3 ®3 (©3 (d)z
(a) shard:pottery (b) shred:wood 20. AT SNCFA VA @FEB?
(c) blades:grass (d) chip:glass (a) [ML2T-?] (b) [MLT™?]
07. AEATE TG CoHPLe (WG (7T F©7? () [ML™1T-2] (d) [ML2T"1]
(a) 711 km (b) 720 km (c) 730 km (d) 703 km 21, 10MEVWWWWWW
08. TS (1A FETOH frrrefa? () 10.51 m, (b) 15.51 m,
@c& ) (@ (d)es (c) 20.51 mg (d) ceriDE 7w
09, AT MOy 3207 nees v 23. IS I Y T A S I ¢ TR T (-
(a) G 2T (b) FPT wferege 2 (a) 0° (b)45°  (©)90°  (d)180°
(c) QAT SI=eaw (d) T CRITA 24, mOINFIOLAA = 31 + 2] + 6k @92 B =mi+
10. T FEAPT 1Y (B2 — 7K R Bo oy T3?
(a) forfermy (b) ﬂﬁ‘lﬁmw) MIEL (d) glifoary (a) 18 (b) 12 (c) 20 (d) 24
1. STets <{fedia 32aw o corafo? 25, PR @I @IB?
@ B)F  ()eme  (d) el @Nm™  ()N-'m (c)Nm  (d)Nm”~
]

I ECCF /; \
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3l

33.

34.

3.

36.

38,

39,

40,

ﬂﬁawwmﬁmﬁwww, gt

(c) DTS TI () W RafEs e
o R a3 CTFE (et falla srafis

fEeRS 90 TR (Tt 7w, wg i
Fo A7

(@ 1sec (b)2sec  (c) 4 sec
3p Toife I RO Fuf?
@1 (®)3 (¢)S (d)7

sy SO WA 0 K Stoiaiam o sifefis 2za.
@FEE O (R (4) SRR
@SR FA0 o T wg?

®)6 ®9 (@12
A,(g) + B2(g) = 2AB(g); AH = 4ve
(i) i oreigat

(ii) T 9= K, 8 K. 99 I w1
(iii) FTTRER T BILAR (P @O (73
e @i F+?
(@)1, ii (b) i, iii
{753 @IRG Fe3* @3 3tetel Reyrr?

(a) 1s?25%2p®3s23p®3d°

(b) 1s225%2p®3s23p©3d34s2

(c) 1s22s22p®3s23p®3d54s?

(d) 1s?25%2p63s23p®3d°®

(a) Br; + H,0 (b) 05

() K,Cr,0; + H,80,  (d) KMnO, + H,0
@i ge faferam cam?

(2) ~COOH (b) —C-NH,

(c)-C-Cl d>C=C<

5% Na,C0; wate7 (it we?

(@047M  (b)0.74M (c)0.89M (d)0.98M
@R ffer e p-ge Glier ww?

(a) He (b) Ne (c) Ar (d) Kr
et o faferama e tef w7 -
@ ufBw  (b) wfacem (c) wrafem (d) wfawr
T e sihaat am iy w4 cce?
@ " pfew  (c)qH (@) fof

(d) S

(d)15

(d) i, i, iii

+ WA 76 AgNO, Taet Bl (e o] 11 Tl &7
(b) SR
(d) SOTEEIRA

() W&
©) W=fegte

N\

42,

45,

47,

48,

50.

53.

54.
55,

57.

58.

17.

18,

ST~ STEIETa - 2020-20 ;

"
aafs wfy garea poH @ 7 4 79 T2 H

e w7
() 107" moll,!
(¢) 10°* moll,™?

(; 2) wiafa favsdrs il 42 G (Trace) @7

(alg (b)g (c)8 (d)9

XUF Gq y-AE LS (@A ATNAAN TH 5%
SRR A9 § T @ASa AREAe Frsd @ ?
(a) Sx + 3y = 15 (byx+y=8
(c)Sx+3y=1 (d)Sx+3y=8

2x% 4 2y? — 3x + 4y = 0 3054 G F7

wE-) o)
0F) @)
sin@ = -::{car tan 0 43 T F?

()2 ®»;  ©F @3

y = 4x? + 3x - 5 IHEAT (1,2) e wfes ~piee
BT 367

(a)3 (b)2 () 11 (@5
y=x%x 9%, x =1 G2 x = 3 99 9 T
RO F6?

OF- ®= ©8 ()9

3x% 4 7x - 2 = 0 TRFIHA T 7303 @OrE ¢
QOITE T WAfE F6?

@=2 1 ®)=3" (05 @3
ye+8x—-2y-23=0 48 (parabola) 93 Borew
(focus) @FRG?

@(1L2) MG ©GYD @@

3x* +2y* = 6 B°W (Ellipse) B3 Verafaas
(Eccentricity) $9?

(b) 10~ molL™"
(d) 102 molL.”

Wz  ®F © @v3
Extra Syllabus

fir siferard} eraren astydi stwamm g v

(a) 77.7% (b) 66.7%

(¢) 70.7% (d) =S 7y

wﬂiqu’cwﬁwmmﬁmam
(7T (T 120 om U4 SRS | (=1oifDn oy w2
(a) 1.25D (b) 2.25 D

(8)350 (d) R 7y

PGS
IS JEfiT
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A= hAaiuiq QOQOQh‘

?
nc, = 10 A, n & AT FO N

22, fon e e g A 4 ms~? A DR | B 05 @6 (@7
| 10 CTas o7 SNifef w7 oy Sfwy F=a? " 5] ;a)__. |x|m:mm@¢<5?
e B SOE:;BWMMHUW? | (@) [0,0) () (0,) () (—0, ) (d) (L)
a febraerd (b) T 2. f(x) = logx 71 s oA -
:Z: mﬁﬁ‘ affe (d) PRS G @) F109 = € (Z) f-1(x) ; Inx
37. EECEDRR WAISE e QA (AD? =g =¥ % 201 @z
N mm (b) TrT 92C IH 56. a @a c@m WeE e (a+ 2% G f“?ft»
t;mﬁ:ﬁéms (d) CIFGfrSE x5 AL x® 7 TR AT A LA )
5
43, CoIw ToMICTR TS TS qia b Jiey? (“‘)i (b)g OF (d);
(a) CaS0,.2H,0 (b) 3CaCO0. Si0, s i P(BJA)=025 @3t P(ANB)=020 3
(¢) Ca0.Al,05 (d) Al,04.Fe, 0, e
® PR B (b) T @005 (5080 (c)0.90 (d)0.75
:aieww (mﬁqm 60. —3.5,-2,-0.5,1,2.5,4 4% TAEA *fa7a-
C 5 S
46. 2i+ 2j (B3 x-NCwY AN T B 1t tofF F? (a) 10.5 (b)8.5
(a) 30° (b)45°  (c)90°  (d)180° (c)7.0 (d) FHIoR 79
I S ST 00-30 99 AT

09.2a | 10.a | 1l.a| 12.a | 138 ] 14.4 | 15

01.b | 02.a | 03.b ] 04.a [05.d] 06.d [[07.a] 08.a 13. 1
’ 16.¢ | 17.c [ 18.c | 19.b | 20.a | 21.c ﬁ?.éb, 23.c | 24.b | 25.a | 26.d | 27.d 286 29.b | 30.
3l.c|32d|33a34b[35d]36.a [37d] 38.a | 39.a] 40.a [ 4l.c| 42.- |43 44.a | 45
46.b| 47.2 [48.a| 49.b | 50.d | 51.a |152.b | 53.c | 54.a] 55.b | 'S6.e | 57.d [ 58.¢ | 59.b 60.
Short Syllabus 24, MY B);A-B=0=>3m+6—42=0
03. SFARGA: (b); T =rfd =fifeg s Pl
04. Solution: (a); Adulation — (SIFITI7 | 29. I (b); 3p (1 = 1) RGBT A
13, A (b);n=1~-2=1-274278 _, 300 =2l+1=2x1+1=3
wan 3 T, 2304273 503 30 W (b)' (ﬁm) & T w
=05 = 0403 = 1 = 40.3% ~ 40% ‘ - (0% 2 (SR Sterran)
3 __"C"
15, EEICICH d:R= —.'.Ez-l'_z. ﬂ:i"‘_l_ Ay . " Vs
CeR=ppg=pxg LT 31. W'(C)’H'R \C_H
=2X2=4 2Ry =4R; =4x4=160 H.\C-—C.//H
19. mm:(b);rz.smvmwﬁmwzm 3.

(125><2J'<'r25m°mwﬁmm()

R

2L T (c); B, = (m-my)e? = 10 x 1.6 X 10-13
_ 10x1.6x10~13
=m-m, ‘W—— =178 x 10"29kg

1.78x%10~29
>m-= m, =
9.11x10-31 19.51 m,

=m=2051m,

33,
36.

T (d); AH A - fRfdran oo
An=2—(1+1)={)
“ ATITER B eoIR 73
Kp =K (RT)™ = K _(RT)® = K.
TINI: (a); Fe3*(23) = 152242 2p© 352 3p° ¥
TR (a); € = 200 _ 5310 _ 47y

A

qﬁwmmﬁw‘“"
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:mTﬂ'Ff (blank); pH = 14 — pOH = 14 — -
= -—IDg[H+] =10= [H"‘] =10" mM

mﬁ(a),ﬁﬂ?‘lﬁm@q 20—12( -2 _;56)

{ =8
:(__21 ;) @‘T(Tmse) +-.=._
% 6

4

45.

@A) _ 544 g

|Al -Sx-t—t':xz:g
Note: Shortcut f5 8 2 x 2 Wfliara vy eyrares
A7. SNY: (a); option check 5x + 3y = 15
2X41=1;345=8
35
48, T (a); 2x% +2y* —3x + 4y = 0
:x2+y2—§x+2y=0

i@ > el e B
50, Y (d); 3,smB..E

~ tanf =

Shortcut: tr (A™Y) =

53. FAE: ()5 y = 4x% +3x— 5 = L) = Bx+3

d
2L lap=8x1+3=11

54. AL (a); CFATA = ffydx = Jf(yu—yl)dx

13
- e -0y = L an= 2]
=13 -1%) =% vhers

A =0
A y“

-3
AB =

-3

S5, T: (b); T o, BT @+ B = =5,
—-7 -2 _ =9

= — =

(C!+B)+a[3=—--—§-- . 3
5. Sarqe: (d); y2 + 8x— 2y —23 =10

Sy2-2y+1-1+8x—23=0

3y —2y+1=-8x+24

S (y-1)2=-4.2(x-3) =2 =—4aX

o\

S - ST 2020-20

58.

18.

22.

46.

49.

32.

56.

59.
60.

X=x-3,Y=y-1a=2]

@A (—a,0); X =—-a=> % — = =2
-‘-R=1:Y=0=>y~1=0."y=1
S GBI (1, 1)

2 2
AL ()3 3 -1‘2'1'2:./2 =6=£—+Z_=

- Berafaaa, e_j:;_F

[Q41T a? = 2,b% = 3]

~N

hl“

Extra Syllabus

el=
]
8]

FAAYH: (c); v=120cm = 1.2m; m =

=u=§=60cm=0.6m

b
»

FAYE: (b); "C, = 10 = ——— m — =10

n(n-1)(n-2)!
2x(n—-2)!

>n2-n=20=n*-n-20=0
=>n2-5n+4n—-20=0
=>nn-5)+4(mn-5)=0
>m-5Mm+4)=0
~n=>5[n=—4 JTCEAFT 77|
HAAYE: (b); f(x) =logx =2y =
=2x=10Y = f~1(y) = 10¥
fx) =y=x=f7"(Q)]
= f~1(x) = 10* [y 93 ¥t x IF)
TAYE: (0); Tegy = 10C, 10 T27. X"
x5 Q7 T = x° QAW

l.OC aS 25_.10(: a-t 26

S
=9a-2><mc —Zx-_-

=10

logx [y = f(x) ¥@]

[~

P(ANB) _ 020 _ 4 _
A (0); P(A) = 57 = o2s =5 = 08
FAIY: (d); AATS W, L = 4
w4 W, S = -35

+AfAL-S=4-(-35)=75

W ETTr
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| g
| T B S STAREHT 2008-20 frrpraa
rA—— 3SE0:A oG A . aa fafas

SPASYCE GG bro B e wiTR | S0t efar B@d firts & aﬁﬁ?ﬂ@:m AR~ AT
T 0.0 FHA FIOT I | (HI YL FIETLLAOA I 20 AL A1 QR @TEfG #JH P
13. fofem efbar @rsm @@ JReT @F 21 fe o
Short Syllabus ‘
FACR?
S 5 (a) ICAZTEFAADA  (b) WIABEAA
g, e TR [ (©) oo T (o) AT
02. e A3 -
(Y=o i i) ( )me!T (b) 1-0“" (¢) 10712 (d)10-15
a
03 fo = fﬁﬂ . it 15. @6 CoiETea 2/ F7e (2.5 40.2) om A
. XI5y R 35t mit? .
(a) SBEITST (b) SREGF (o) (TR (d) et A ST A "f"‘a'aﬁow- i
04. Fill in the blank with suitable preposition: He had (@)0.08%  (b)0.24% (c) 8% (d) 24%
fourteen wounds all ____ his body. 16. ftea @A (o7 7
(a) about (b)over  (c)to (d) for (a) ST (b) 517 (c) CFaTa (d) FTe
05. Fill in the blank with suitable phrase/words: While 17, WWW@WWW@WW
taking an exam, you follow the instructions
written in your admit card. (a) 75 (b) &fe (c) 1 (d) ¥
(a) have to (b) have 18. 60 kg St9 W36 IBA B9 F© I AT 4= |
(c) as if (d) had better ffS @= @t 10 ms—1 3 #ima?
teacher knows the art of 19. 1 kg Staw 111-‘,;;- IE | m TR AR T @01
(a) teach (b) teaching (c) learn (d) know
0. JIECHCIa I Coremay g ¥ Aot Sraewear a2 TR S 7 73
@FF  B)MEE () Retiwte @) g | @6E3XLOUN (b)6.673x 1070 N
08.  NET GG =S Tt el ? (V6673X107EN  (d)6.673 x 102 N
(2) CTHIMH (b) TR (c) cxwr (d) ey 20. 4G = 75 T8 & T @9 welr-
09, FRECHTR ARG o oI oo Sfirer? (@0 ® (91 (d) -1
(a) Brafrarst (b) “DFreTefie 21, MO T 5 m 8 (M-m) e 4876 Foafis 9
() TS (d) FIIfBE 7y T M/m S T Q07 W47 RS 2 s ?
10. N1 & TR T4y Tt 7B w1 B (@2 (b) 4 (©)3 s
@ b)AT (o) ) emfs | 22 93 GI™S (Mremears i
1. M sty fer? @25Hz  (6)05SHz (¢)1.5Hz (d)2Hz
T
(a) e (b) &R 2.3 TN NG A At e waw et i
IS g T St qfbe erera e ym &
O A ST R 2
@¥m  O2ym (VI (@ 3n
TR ety R O



https://v3.camscanner.com/user/download

-

25.

32.

33.

34,

35,

37,

38,

M

 fg oIt (IR ST CTCT] TS Sef e o1

ol 511 @ ST 1 1% 3frauota W 2rq2
(2)5820K (b) 68.25 K
()20.25K (d) 100.20 K

60 kg O 930 T 0.2 ms™! i @t aafs
41! TN 4 A 0.1 ms™! et e o
fipra CFT AETE O _____ kgms™?

(3)0.010 (b) —0.015 (c) 0.2015 (d) —0.115
s o o1 e (T ©1 IRFe 1 27, W B
FIO IO AJ?

(a) 0% (b) 1% (©)30%  (d) 100%
WGSBS 5IfEre G @ @B wirs sifer
([od AT8R AN =0 T, @etwa b —

(a) P A (b) 9T =TI

(€) [T (d) AR 7

@3 @R 9T g 93 AR 9T afe
AT FCACR | S 930 (@4 QS st «3 cesm
AR A TORE INGE &G AN TR

(RO W4T 4GS 51 [ (T &4A1% A?
(a) ST 1Y (b) faSz G
(c) TSTHF (o (d) Ao T

(51T 4T 2TG?

(a)5x 10*m (b)5x 1072 m
(€©)5%107 m (d)5x 1078 m

AAG FARE 726 6 @ &fSF 300 kmhr™?
@t Sfery Far Tow G SRfge 12T wfd
TR AT -

(a)12ns (b) 12 ms

(c)0s (d) IR 77
s b iR Bwzae?

(a) 3%2p () %C  (c)Ca (DK

@3 Grdfrm @arte P Re wéeRaRe
RS Fare erarem-

(a) Sfefe wrere sfiwr (b) farré wewa

(€) AHTAE woGq (d) Bt AR

@G AR ByrerS omid?

(@ HCl (b)NaOH (c) KMnO, (d) Na,CO3
@M RerEE TRy Ew qR MIT
TG w2

@H,Li  (b)He,C (c)C,Mg (HO,N

—

TP\_

opq-raed : 2009-20 ‘

39,

40.

41,

42,

43,

44,

45.

48.

49.

50.

31,

54,

5.

56.

l?
T B39l G T FIBTIR I e A

@AP*  (b)NH] (@ Ca*t (@) Zn**
AT e Bl 9% o vl o ST e A
(a) near IR (b) middle IR

(c) far IR (d) UV

5-J0 (N7 AT F07?

(a) 14 (b) 36 (c) 4l (d) 27

(@I TP GRePTEd ZGA A (G g TrEAIEa
*f& sarsea @f?

(a) &1 12, 13 (b) 271 13, 14

(c) &4 15, 16 (d) 271 16, 17

ftsa @S #nfere Z3dw?

(a) AgF (b)AgCl  (c)AgBr  (d) Agl
form T 3l e e fed e 7l 787
(a) /1o BI9S II2E

(b) 7T Mg @I

(c) TTeN ToEIeS _

(d) argfes @l sfaeeam

HITTF 257 So1 F1R -

(i) <ty =it At (ii) TS ST

(iii) Sro@r 45°C a9 & <At

oo comit Afiw?

(@)i, ii ®)iLiii  (©ii i (d)i, i, i
STP (S 64 g 0, AT WS F97

(a)224L  (b)448L (c)672L (d)89.6L
feea e fam 2w syt R s wil?
(@CFC  (b)CO; (¢)CHy  (d)0s
58 (@1 @R C-*RWIYTS sp? Fa B2
(a) CH; — CHy (b)CH; —C=CH

(¢) CH;3CH,CH,0H (d) CH, = CH,

2° IR I [T B2

(a) —CO — OH (b) > CH — OH

(c) > E — OH (d) —=CH,OH

50 g CaC0y 97 ©1 R Rrarems Besiy €O, w3z v 792
(a)11g (b)22g  (c)ddg  (d)88g

I F Ry W G gt S <eieiee s sifmee)
ke a?

(a) Zn (b) Al () K (d) Ca
GRS @1 G TS w2
(a) Cu (b) Al (c)Zn (d) Ge
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A

-] Qoag,.QQ ‘

P
BU D & 7sin26+3c0529=4wseca‘ﬂ_ﬂm®
62. x GF AMCATT e** 97 ST (PO ? (a) 2 )2 © 7 ()2
X X "_xz d) x%e** e ? 2 2
(a) 2xe (b) e? ©)% e 80. 2x%+ 2y%+ 6x+ 10y — 1 = 0 J0&T [P 7y
63. [ ‘j‘l:zx dx 93 ¥ @FHH? (a) 1 (b)3 ©)4 @)s
(3)5“5 (b) % (c) ;—z (d) ;Ef,' Extra Syllabus
64. = (cosVX) @3 T W’-’ . - 29. wfe &z A BTFF CHEa F1F fde wrz.
@ =sinVk (b) =% () ZE  (g) (a) STIFPEITER 7@ (b) #ffERIZSr 74
65. y = tan™! =, rer ¥ @@ W @G? (c) FLARES () PRl
1-x x 5 30. =6 %2 §aeed ovtd @30 N 1% M09 $99 1
2 _2_ T Y :
@ == b))z © Viex? 1+x2 O WSTHSI SAHS | ‘f@ﬁfﬁ@?ﬁfmwﬁﬁa
66. 3x — Sy + 1 = 0 FHEAIR BT (FHB? ST w RS 1 AT TR T I
(a) =2 ()2 ©-3 @3 (a) ARCAPTIGI (b) © 99 TS
67. 3x— 2y + 6 = 0 STAECT WA x-STFA O F© (©N 'S w G TAFANEF (d) Tofte Formg
- 31. eforaa qEarT qF @ Aeta 379219 91 23 O-
(a) =5 (b) —2 (c) 4 (d)3 (a) TG Wl 92 G5 @75
131 (b) Se= w+fel @ fswpers
68. 4 Trace) (FF{5?
[g zl; Jmﬁiﬁ?ﬂﬁﬂ( race) (c) Bam Wt @ afowee
@5 ®12 ()8 @7 (d) SReeT 7 @ TeeT T
p=2 1 j._ 36. FiECATST RT=prTr e Ja werem o4 3 1.4M,
69. = 0 T, B 93 T FHHB?
2 ﬂﬁl—S B+4‘ P 9q @R @R 3 M, 9T IY W @ TISEEES
(a)5or0 (b)6or2 (c)50r—3 (d)1or—3 MWWW—
70. %6 U 60 cms 2 FAGIC 5T QARG GILFTS (a) TG @ caiibw R FEGH sifSe =n
720 em #12 Sy Fe 1 b it Fo? (b) T T TG @B AT SRSl O Fa
(a) 72 cms™? (b) 80 cms™* T T
(c) 90 cms™ (d) 120 cms™ (c) af® 8GR v RS =
+ X*+px+q =0 TRPAH L a, b, ¢ T (a2 + (d) Boieem bR i
b? + c2) 97 9 F? 46. (VY O 4I07E —
(a)2q (b)-29 (c)2p (d)-2p (a) &7 (b) I
- 2=8+4+3iTqAz+Z 9A T 67 (¢) SITRE [d)m‘m
()8 Wiz @16 @3 47. Ay TR P com e 2
2 2 2
(@3 ®F Oz @ 52. R @ RS @l - OH o rraeact
76. sin (tan‘1 21 + cot™? 3) SRR Nemiind TR 7
1 1 1 3 (a) FeCl; (b) 4154 Na
@) 7 1 ®)3 ©F @3 (c) ZnCl,, HCl (d) NaHCO,
77. sinA:;tﬂ?icosB=;,—1§EtﬁtanAtanBtﬂHmW? 53. fﬁ‘-&mﬁﬁ?&sﬁmﬁm@aﬁwm
(a)g- (b)sl ©) ﬁ @ Vi (2) TRGMRf (b) TG
) 2 (c) TRGIfem (d) TG
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1

, [ \ S5 STEIHT : 2009-20 ‘

Ol. @@ ssi am erows ewowAa ANA FEAAA
e (d) st TN | FEATTE AN 66 WA FEGA @ TS
€ A e ; Coifgs furara?
58. frwed i ? (a) 11 (b) 12 (c)24 (d)33
(a) RIS (b) BT 2. f(x) = |x - 3| Werfoa am 727
(c) IS (d) TICITERD (@) (3, @)  (b)[0, ®) (c)(0,3) (d)(~,3)
. 3,485 9 O SR NG 241 oy 74, a &7 G TG G (a + 2x)° 47 FAgfEE o 4
@4 ()1 ©3 @? X" & T R T 27
9
. oB T O T =@ G ey g (a)F (b)3 OF (d)3
FERA FO? 79. (3x=2) > (2x — 1) G FAG A5 CHAD?
1 (b) 2 ()2 a2 (a) (1,00) b) [1,)
@3 3 2 (d)3 o) s ) @ G, )
B AR T I TSR pp——

03.d | 04.b | 05.a | 06.b | 07.¢ | 08. b 09.a | 10.c [ 11.b | 12.d | 13;a | 14.b | IS.d

18.d 1 19.2 | 20.b| 21.a [22.b | 23.c (240 25.- [26:d| 27.c |28.d] 29.a [30.d
3Ld 33.¢ ) 34.- |35.b | 36.d | 37.d | 38.a | 39.b | 40.c 40| 424 |40 44 | 450
465 48.b149.b | 50.d | 51.b [ 52.a | 53.a [54.b | 55.c | 56.d | 57.a | 58.b] 59.c | 60e.
Lt 63.¢164.b | 65.d | 66.d | 67.b | 68.c | 694@| 70.c [71.d | 72.b | 73ie | 74.d | 75.b
76. 78.a | 79.a | 80.b

Short Syllabus 22. SER: (b); f === 0.5Hz

05. Solution: (a); QIR ITAIGFS! Wtd have to I | 23, i (©);yr = Jy,‘n +y&4+2 Yo ¥m - €OS (;)
06. Solution: (b); Preposition+verb+ing

15, T (d); X = 2 v =2 = ym2 i o o
r2s 3 24. STA: (b); C'ems = D= VTP = T = 22
_3-—3 %—=%=%X100%=24% ~T' =6825K
18. MY (d); a = — = ~ms~2 25. FAYE: (No answer); F X t = m(v — u)
60 6

=60 x {0.1 = (0.2)}
= 60 x 0.3 kgms™! = 18 kgms ™!
19. M4 (a); F = % - G"_ll;‘_’ 26, JTAYR: (d); Q; = 0

=G=6.673 X 10~11 N T]“l—'—' 1-0=1=100%

2. TR (b); vd 7y 7 trdy e @A, SRR | 33 sy (c),WCﬁﬁiﬁﬂW’ﬁﬂﬁﬂ‘ﬁn
Wlmiﬂ{-aaams:iw_,@ﬁmﬂﬁﬁﬂl 34. TR (No answer); §R A TS ommry

--F—ma=60xg=10N

— ST RTINS AT |
2. S m(M -m) , 4F _ 4 [omMom)
(a); F=G—— dm S a2 54, AYH: (b); CaCO4 = Ca0 + CO,
100 44
:’U=-—--——(Mm m) » 100 g CaCO3 7 RTATETH Beomy CO, = 44 ¢
SM-2m=0.Y-2 #50g CaC0y @7 fRTaTens Beomy co, = 22 g

@ CamScanner


https://v3.camscanner.com/user/download

55, FRIEE: (c); IF RUSAGT W =1 |
M
g SR 4Igd W4T K maw;aammu

62.
63.

65.

67.

71,

73.

75.

. ANIYE: (b);

T (a); f;(e"a) = e“zd—(i-(xz) = 2xeX’
AAYIN: (¢);

1tan”'x
& fo o dx x | ® 1
n &
:f%zdz=[z_z]: 2 0 4
0 2o W fd, tan~ x =z
. B
.2 "'32 =$-1+x2-dx=dz
1tan™ - rt - -1
™ [ s dx—fo tan"1x d (tan™! x)

_ (l‘an"‘x)““]l [” g _x#1
—[ 1+1 ¢ [xtdx = te

m?

= (an )% - (@002 =5(5) =5

4 (cosvx)
- st‘

= [_' Sm(ﬂ] Xor 2\;- 2v"_

JAY: (d);y = tan~1 2% —= =2tan"1x
dy 2
tax 1

A (b); 3x — 2y = —6
2 X4 ¥ 1x==-2
23

. HAYE: (¢); Trace=1+4+3=8
. g (d); (B—2)(B+4) +5=0

= p2+28-3=0:~B=1-3

., AAE: (¢); Sen = U +§a(2t— 1)

=720 =u+5x60(2x11-1)
~u=90cms™,
[a=60cms™%t=11ssy = 720 cm]
AY: (d); a2 + b? + ¢?

= (a+ b+ c)? — 2(ab + bc + ca)
=0-2p=-2p;

[a+b+c=0, ab+bc+ca=p]
AAYH: (¢);z=8+3i,~Z=8-3i
nz+Z=8+3i+8~-3i=16

T (b); X% + 4y? -1=>— %_- 1
4

V3

2

=p= [1—-

= e

76. FANY: (¢); sin (tan"

77. FAIYIT: (c); tan AtanB = cosAcosB

78. N4 (a); 7

11 -1
2+ cot 3)

. -11 vil)
_sm(mn L+tan”'3
1.1

= sintan™ (—3—11-}:_ ) = sintan~1(1) = sin

I—EX;

-
=

-hl:l

1
e
‘r~

sinAsinB __

N
-
bi‘h-

‘ ;‘_]
&~

Ef
-8

IS

X 2

3

K

=

sin2@ + 3cos20 =4
= 7(1 — cos?6) + 3cos? 0 = 4
=7 —7cos?0 + 3cos’6—4=10

=>3—4cosze=0=ac0328=§

2a %, 3 8
=5 — & e
sec“ 0 3 secO 73

80. JNIYM: (b); 2x2 + 2y* + 6x+10y—1=0

=>x2+y3+3x+5y—§=0

Extra Syllabus

59. AAHE: (c); X =4

|3—4l+l4-4l+I5-4 _ 2

8 Y = ~ -s
60. STIYI: (c);cﬁﬂ%ﬁf"f‘{'#lf=2.3,5=3ﬁv'

; . .

R = = =3

61. Y (b); 4, TS n & ToifFS fam

=»>n-n-132=0 ~n=12,—-112n=12

74, ANYE: (d); (a + 2x)°
=af+6xa%x2x+ 15 x a* x (2x)*
+20xad x (2x)® +15xa? x (20 +

-------

3
2080 % 2° m 1523 X2 o 2w =227
- 20x23 4

79. HAMYE: (a); 3x—2) > 2x—1)
=23x—-2-2x+1>0
=2x-1>0:x>1

IR

Eacamkmmx
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03.

05.

07.

08.

10,

12,

Wﬁyoﬁﬂmlmﬁmtmﬁm

Tifd SO STAEHT 2058-20 firegpren

3Bfas: A

AEM (670 WA
MCQ =3 frs

ﬂo,qommmnmwmww

W oo ym Saraa
A Araqwa s e

Ao oo OMR
AL A 4T
waeB T v e

QR carsfl sy »ra1) _

/———-__
Short Syllabus 13. ciofefes s wurs foes o siea oFems
ill in the blank with suitable preposition: Thousands N A?
of lives have been saved anti rabies treatment, (a) Fife (b) fiefer:
1:_:]17.?’ " bli)lc&:::h (.2;:“0 s (c) Ffee (d) coffsmfrmm
. Rl m suitable phrase/words: He | 14. ™ fawar @D AAET

thought that he in an age not befitting f s L o
e g lor (a) PYTHON (b) HTML

' o (¢) COBOL (d) PROLOG
(a) there (b) what’s it lik
(c) was born (d)ha\-rt.atscult B 15, a @@ TR ISP+ +x+a WO x4 2N
Fill in the blank with appropriate word: If anyone of Fsries Rerey 3?
siudents —— some mistakes, he isnotvery harsh tohim, | 4 e G- @9
(a) commit (b) commits 17. a+ib=4—i % a? — b? 93 T $S7
(c) committed (d) committing (11 (b) 12 ()13 (d) 15
@ TR a7 19. 9x2 + 4y? = 36 BoRUET BIFHS TR O FS7
@FMR OTMR RN (1) IR OF ®: ©; (@9
@R %7 20, W x = sincos~ly T, OF (x? + y*) 93 T (FHG?
@) T =VTHIH (b) T = V A+ () 2 ®1  ©-1 (@0
(c) T = N F+IA (d) T = V F+WH 21. tan9=%?itﬂsin20 97 T FS?
‘T 34 AT R =?

T eI oy XA (@) O ©Ff @}
(a) T (b) 84 (c) &% (d) YB 3 5 ! o
R — : : sec‘r_—;ﬂﬁtan GERE ‘
(a) IR (b) AT (c) FHEAE(d) Fhva OF O  ©F @3
@G TS fe? 23. 2x% +2y% - 6x — 7 = 0 IO QTSI YHIE (FHD?
@ (o) (o) STHIRD (d) AIRD @(03) ®Go) @Eo) @(o)
::mcasrjn::rm;;nfmﬁﬂwmm 2. X2-Bx+2y+7=0 WY MR IE
(a) 7t 7 (b) e =i '
@02 (@1 4,2
i R iR . @) ©(4) @
-3 B o wfeT SAfES? 28. [sec?>x dx &9 W (IWO?
(@121.5° (b)1235° (c)119.1° (d)127.5° (@) 2secixtanzx+c (o) Fanix+e
- WRTBIFW vyt com camm wafgs? ()tan3x +c (d)tan%x-}-c

@SR (b) TR () IR (&) TR | 1 xdx oo g
TG AN SIS St 71 H? o e
(@) d) T @7 ®; ©F @OF

TR (b) ZARS () TEE (d) 4 s 3 =

[}
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aﬂ"mfﬂﬂ : Qobh‘ ]

y
fafSG 5A e e
_ -z o ¥ @7 T @ED? . AgNO3z B3t 60 T
sl el i - o &lT Ag &1 ZA? T
(a) _ge-gx (b) —9e~% (c) ;e—gx (d) 9e (a) 8.766 g (b) 16.812 g
31. o (tan™? ) 1 A @D (c) 20.145 g (d) 24.854 ¢
(a)l‘l'xz (b) 1+x2 ( )_1.:2 (d)\/l__.? 47. WWWW
32, 3x—4y—12=0 @3 3x— 4y — 3 = 0 FATAT Shaaalli i " D
48. (MG GOl “BIrEIS Id?
TR WIS g T67? :
i i 4 . (a) H,C,04.2H,0 (b) KMnO,
@3 ®)3 ©3 @3 (©) K;Cr0, (d) Na,CO,
33. (-2.3)RYTEx—y =5 @R 7T 7Y FO7 49. @R “ENeETE FHAfRE eI aIR
@2v5  ®52 (V2 (@5 FERG RAT?
13 1 -
@CMg (WHSi (c)HeCa (d)O,N
34 bR e
[g ; ﬂ e 50. Ba(NOs), B3l QIS CI- SFIER *HIG T4l T
9T T @7 (a) SO32,CI~ (b) CO32,NO32
(a) 5 (b) 3 )2 (d) 4 (c) C032,5032 (d) NOz?,Cl
I 50 0 51. oo..n ST CACHA A TG OIFT HAIGS
. —[g g g]iﬁ,det(A)an@mﬁv‘? e T T
@5 (b) 52 (©) 53 @0 (a) 110-225 (b) 80-225 (c) 380-565 (d) 320-3
36, @l &t (3t+53)ﬁf-‘1§°fal - 52. YT GIEPTIR ..oocevreeee. A Gl |
P 4 (a)s ®p (©d @f
ela i GO 7 PO Z? 53. PClg WA (PR ~Fm1< Heaet gl e ?
(a) 78 ms (b) 87 ms™1 (a) sp (b) sp? (c) sp? (d) sp*d
(c) 75 ms~1 (d) 85 ms™* 54. (I GAE IFH A *& Tr@r @f#?
37. STP (® 3.2g QT I 2.24 L SIS W& Fa0a (a) STAE® (b) STNTAET
;‘“}":zm"”“(i)m' s (<) 4o (d) RRrGITE
A z __@N: (@0, 55. for cefifa s e wug fiesa Rl e
38. fared Ae?
gy 1 b
(a) pH: 6.4 — 7. (b) DO: 6 mgL (b)ﬁ?ﬂ"ﬁm
(c) BOD: 2 mgL™? (d) COD: 100 mgL™!
39, oD e wifeeT? () SN F s
(a) CH30H (b) CH;CH,OH () P Y Tl e
(c) CH;CH(OH)CH;  (d) (CH,);COH 56. AWy NE RS oA -
40. @BIa A SIY Rreare B Testy 772 (i) eIt et (i) R i w
(a) &) @fre (b) SHERZE (iii) 4TS AT XS
(c) SITRIZGIZE (d) SIZe TS o sifde? "
42. 57 @R A SiTErRs i @i, ii b)iiii ()i, i (@bBY
7 "
(a) CHsCH(NH,)COOH  (b) CH,(NH,)COOH 60. @36 ol e Frea 78 600K (T) wm;f
(¢) (CH3),C=CHCl  (d) O,N — CH,Cl @ TS 1200] (Q,) Wit ozt 3w A T
43. 500 mL CORTaeTe wate @ iy Na,CO; 2? 300 (Q.) ©1 q& 3| w19 Zftgrea 7O - g
2.6 Q . (17
' (a) 2.65g (b)530g (©)6.30g (d)10.60¢g @1+ (b)1+gl ©1 ‘D
I ETEEE—— 1 i
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03.

67.

68.

69.

0.

| n

@ﬁgﬂﬂﬂﬁa‘

7@ T CTOUTR BT T 2t
' (a)srﬂ“]‘ (b) gt (c) *if& (d) "y
5! -

(a)m'ﬂf’rﬂ“
(b)wmaﬁmmw

() O RS A o =
{d)@ﬂﬁﬂ
(o fRAIRI ST @I el 2 e g o

oA 20 Q | 979 1 amp R e ez
(a) GRITER STl T I

(b) CICE I CITY AT

{c)mm%‘m

(d) @FHR LI

@ & TR T 9 = e aa
G IS T I 4T 2| 9T VTG T
SRR (BT T #1147 1 &g it 292

(a) @I (b) FIg=

(c) TSR A (d) =8t sTe 7
TRTE- G “Harmr e <2t g

(a) ORIE ST T§

(b) I SEAIF S (W47

(c) TSR AT O T

(d) FHHE 7

3 {iNa-a7 MR o9 22.989770 g Sy
fiee 238U @3 iR o= 238.050784 | P
(a) TETHAR SIRCAICHIof AR

(b) 233U 93 SI3TACGIof

(¢) $3Na @3f5 comfry smrd

(d) PrfBE w7y

G p R @ n WA A A TR
W 0 e ot o ) T % T -
(&) STy ~iferrtet foreq oty ol 2

(6) R st wreifarai e S Soae
©) Xt Wi wésfeIEe o SIHAd P
() iR oy

YN arafs 7o oy e Tt o0t Y O
Wﬁla%ﬁm‘fm_

WIN s (866N (@ON

J/\.

SP5-STEILTE : 200920 ‘

73.

74,

13,

76.

7.

79.

80.

16.

18.

25.

26.

27,

41.

B et G.op caras Bermord 9 7 G AT
H9T A7

(a) *lfe=fa (b) aTa

(c) ot Bgg Bonemt (d) AT SR TR
9G¥ 7F® 10 ms—2 gawet sfeda are S0 N
AT A0S T | “fea ahel 7o 10 N 207 754 o2
(a) 4 kg (b)10kg (c)6kg (d)8kg

fisa comiba ojub sz atremy ramsea c@fr?

(a) o (b) 34 () qf4d  (d)FTe
o 32 g el ot = -

() IRECFTTA G (b) YA ATTOE G

©) I PO G (d) I BT T
I RS S @A S 1S AT AES
SIAYA (A & 20 Sl Wl 54

@3 ®r @0  @F

% ¢ f5Te YA s T S ondey
St o Fat-

(a) T Seeifrs Smet  (b) fw wefes wige
(c) T fferams (d) =y Faferars

200 gm SR 936 IFI @ ¥ = 21 + 5] LA 93
sifexfe za-
(@) 3] (b)29]

()3.74] (d)6]

Extra Syllabus
f(x) = x* + 5 93 Ao e Trm EED?
@¥5+x  (B)VX=5 ()Vx+5 (d) Vx=5
(x“ —xil)a a7 RRyfors x!! g w2 w92

(a) 64 (b) 41 (€©) =56  (d)—43
2,3, 3, 4 SUFIRE 7% TRYH @RB?

(a) 2 (b) 0.5 (€) 0.6 (@1

0, 1, 2, 4, 5, 10 RAMGT TS WSy a3fo fge
O GNfFS 8 (WG RO FSA! To?

@3 3 ©3 @32

10 6 380w w0 4 B 2R o ermea AR v
e e 2 6 9% st ar?

(a) 220 (b) 28 (c) 70 (d) 45

IR 39S IR or et war sreayt e
(a) (300 — 400)cm™  (b) < 1000 cm-1
(c) (1000 — 4000)cm™ (d) < 4000cm=1
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S-S : 206&.-;0\

G SRR GreawicEd 220 Ve 4At5ﬁ5g\%

45. TS CHIES THIRTS IRTS T @AD? 65.
(a) HNO;, (b) HyS0,4 sfraT| AT | PEA ATE AN 1: wmw
(c) HCl (d) CH3COOH WT’GﬁW wfe e[rz-
46. frsa srafd wwe W Wy A T AW (@ 40 A (b) 0.4 A
caf* By TTEa? i (c)22V (d) @B 77
:a:%ﬁm :J)Wm 66. @B weea #ica AT (eTq G FHA Tors oy,
c |
57. O FIE G - T S S AGTSTC AL ST iy
() TR (b) N (@) @@ (d) T (ﬂ)”ﬁﬁm""f_‘""‘m
58. ©f¥ @ @ @it qry? (b) *MfATS ST (LT FIB AN A
(a) ¥ b)MS ("N (d) T (c) ~HIfATS AT (0 FIT BT LA
59. sifrawEa SR A (@ T ST ST F=] 28- (d) FBR T
(a) A TO (b) T FT 71. waifieds e cemioa afmre Facse @f?
(c)ﬂ?:@ﬁ (d) =T T (a) T ZTTIZ (b) M=FEEER
' io":q ; iﬁgl%;nwm;;%@mi () *EIFTIR (d) i€ amifE e T =
' TI4ICA AT
TR A A GIFS CFE T 932 OIEE B9 I, ST EANAEE SR AN -
AYE T I3- offsfes =3
(@) 0 (b) 4 x 107T @3 ST (a) TE @ @ (b) SexLAET € @
(c) 4 x 1077T 43 776 7 (d) FABE T () T @ ST (d) STHAD, FE € (
[ 13 SfS ST 2005-30 JF TG
0l.a] 02.c [03.b] 04.b | 05.b] 06.d [ 07.b | 08.d [ 09.¢ | 10.c | 11.d | 12.d 13.d | 14.a | 151
16.d | 17.d | 18.¢ | 19.b | 20.b | 21.b [ 22.a | 23.b | 24.¢ | 25.b 26.b | 27.b | 28.¢ | 29.b | 30.1
31.b | 32.b | 33.b [ 34.b | | 36.a |/37.d | 38.d |36 40.a | 4l.c | 42.a [43.b | 44.c | 45
46.b | 47.d [ 48.b | 49.¢c ¢ | 51.d|52.¢] 53.d 55.a | 56.c | 57.c | 58.a | 59.d | 60.
61.d| 62.c | 63.d | 64.d | 65.a | 66.d [ 67.a | 68.d | 69.a ] 70.a [ 71.d | 72.d 93.d| 74.a | B
76.b | 77.a | 78.b | 79.b | 80.b
Short Syllabus 20. STAEI: (b); x = sincos™'y :
03. Solution: (b); One/Anyone of+ Plural Noun + = x = sinsin™} (/1 -y?) JI_Y:
Singular verb =>x=,/1 —y? y
15, STNI4: (b); 414, f(x) = x3 + x% +x + o;x + 2 Wl Sxt=1-y% ax?+yi=1
f(x) frereca faerer 2@ f(-2) = 0% _ . sand DL 4
“H(=2) = (~2)* + (~2)? —2+a=a—6 21, SFIE: (b); sin28 = 7 = T4 =3
ca—6=0=>a=6 .
. . 20 28 o
17. S: (d);a = 4;b = —1 22, JNIYIA: (a); sec* O —tan“6 =1 'ﬁ
a?—b?= 16-—1—15 =tan29—sec29—1=7—1-7-tanﬂ
19. AT (b);—+—=1 STl AFA (AT 23, INYE: (b); 2x% + 2y2 —6x—7 =0
2 2
=312 <t =2t = Laws oxt byt -x-1=0 scou (L0
GRCTAP i
muﬂawﬁmﬂmm ,I\ @Y meﬁ"
‘A
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x2-Bx+16+2y+7 =16

s:(x’4)2 ol

=42 (3)x(=3)

2...Bx+2y+7=0
0=0=>x=4
x'9+0+

22
[taﬂff o STBATA LA T4 IR 7 g
g4 Option CTCF F&1 W (c) Option ¥ -

ﬁx_4wx 4&%%?&@9@
-+ +T =02y =2 RdRg (o7)
o (03 [ sec? 5 X dx =

8.
- 5 2 5
3¢)==tan=x+c
fa(tan3x) =503
2 Wi(b};
Toaptde 1@ | 3] 317
o 2)2 0
290 1+(x?) 2 1+z 7 1
1 fenn=1
=[tan 2] @z
m
=%'%'n = dz = 2xdx
1xdx 1 01 d(x%) _‘1; -1.211
fq@™: f 14x* z-ru 14(x2)2 —z[tan x“Io

[ jm = tan‘1x+c]
= E(tan" ;B

Ayt E T
— tan 0)_2x4 =
SRS —9x=,ﬂ_=1(e—9x)
30. W‘Iﬁ- (b),y—e dx dx

31, T (b); €7, x = tan® = 0 = tan"1x

—1 f14X -1 (1+tanﬁ)
wian (1 -X = 1-tanB

=tan™1 ( tan 45°+tan @ )
- 1-tan45°tanB

= tan"*{tan(45° + H)} =45°+0=45°+ tan‘1 X
LA (X o -1
e [tan (ﬁ)} 4 (45° + tan X) =

35,

36.

>

37.

43,

44,
67.

68.
73.
74.

80.

16.

18.

25.

26.
27.
64.

65.

66.

VaA\ aa—srmﬂm:?""“’""!

NY: (c); caverra e Fdrared CFed,
a 0 0 s 0 0

0 a 0|=a'wgmd [0 5 0|=5 T
0 0 a 0 0 5
™Y, (a); v =-C-I-E.'—..-;-j'(3t+ ) 3+'—-
smfl =3
=34Lt=Ex 0@ v=3+7 =T8M
w
T (d); STP €3, 55 = yoms
32 224
ﬁ_m = M=32
_ 1000xW 01_._‘_"9_0_5_‘1
I II ” i (b)9 MV - 106%500
~W=530g

FATYL: (c).W—‘m"‘xsoxsoxs = 20.145¢
YA (a); Ax A | e wEE eI @
TG #AF AR G Ax @4 A |

AR (d);mﬁmwwﬂmﬁmﬂrau
YA (d); 92 T 7491 vocosBy |

TAYE: (a); F = Fg+ ma
=’m_%=!-su;mkg=4kg

YA (b); Ex =-;-mvz
=-%x02x (2% +5%) =29]

Extra Syllabus

T (d);y=x3+5 =2x3>=y—>5
Sx=(y=5) ~f1)=Yx=5

2
TAY: (€); Traq = 8Cp X (x*)°7F X (—xi;)
= Bcr X x32-7r X (_l)r

n32-7r=11=7r=21 ~ar=3

2 Tpyy =T, = 8C3 X (—1)% = =56
2+3+3+4

T (b); X =——7F—=3
2 91 TR = |3—2!+13—3|:l:‘.—3l+]3-4| - 'i' =05
T (b); GNFET @ (NG AT ©Y 2

STATY: (b); ARIR e = 10-2C,_, x 1 =28
TARY: (d); A GTEF R T [ G2 Wrwde 797

B
sz(a);f=&=ﬂﬂ oL
P

—_— T

n.l Es 10
220 4
alp=40A

TAR: (d); VGSIT Woifow 3Ry efvranera weer

= 2200V 3% ‘2200 1,
fae AR s A

1+x2
o an2) & o 282
E;(tan'l(l) + tan~*(x))
[tan"'x 4 tan1y = ta 1::;
"j:;( )+ —(tan"1x) = 0+:+x= e
. TR (by; W) g, d = g = 7 9T
3. T (b); 7 v, d = '——21‘,-,-—,275-'
=5=5V2 47w
I W*frﬂ.(b);1+4+a=8 na=3
1y
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' J1C1INIA . quau‘ha

—~

Tiifa Gl Saresl MCQ st e
gfaa:bo | 3BFB:A WC‘:;T“S::‘:

FIOPA AT | QR corefe wm w1 |

epstoia GG bro G &P SITR | 4
T 0.30 THA FIB A | (I LA

Short Syllabus (a) CO (b) SO,
A7 1 a b+c
01, WIRTEE WP WG FS A1 B e 5 n LR | e 2
(a) 1847 (b) 1843 (c) 1849 (d) 1842 1 ¢ a+b
02. TG @ THL 6 AL (PO ? @at+b+c (b) (a+ b+ c)?
(@) FEETEEI (b) g™ (©) 0 (@1+a+b+c
(c) FHATPICIT WST (d) vETTE 16. (0,0),(3,3),(3,—5) fewE @l sfre fagm
03. T THA ADP A [RUBR (PG ? CRaTa (PG ?
(a) TO+AR=SIAIY (b) TER+AA=TrINIY (a) 10 (b) 11 (c) 12 (d) 13
(c) TN+ RI=SH (d) TPIS+AR=EIHIY 17. x*+y? + 6x — 4y — 12 = 0 087 74 € JPIE =
04. Read the sentences and fill in the blank. (a) (—3,2),5 (b) (—6,4),4
Obviously, objectives occasionally — be modified (c) 3,-2),5 (d) (_3.“ -2),5
or changed. 19. sin® + cos® = V2 T, 0£0s3 RS 0 ¢
(a) have to  (b)mustto (c) shouldn’t(d) ought T F97?
05. Choose the word which fits best within the texts below. (a) g () _165 © _1;5 ) r_;
Among , 12-year-olds have on average only . %
three missing, decayed or filled teeth. 20. tan41§5 2 A ZF? Ji - e
(b) people  (c) children (d) family (a) ey (b) Yo (c) e (d) —_—

(a) person

06. Choose the word or phrase which best completes the 21. % {sin"1(x%)} @I W @6 ?

sentence.
My holiday in Paris gave me a great — to improve (@) —ﬁ——x‘ (b) ﬁ (c) ﬁ—% (d) %
my French accent. : x2—4
(a) occasion (b) chance (c) hope (d) possibility i ,El,rﬁ, 2+x—4x7 SR
’ 07, BT ARATT AFRETS 376 47 AT AL FIAC? @-2 O  ©; 1
(a) 377 (b)407  (c)477  (d)478 23. X = [*VZx+ 1dx T, X 97 WF F97?
08. CAEI AR FHON 9T [7? 2. 26 s
Py (b) 71D (@7 ()5 (©) 5 (d) 26
PRONIE P 26. (I ST FATHoIe ot et I T AT
@R Afdw?
09. @G e fHer? @) q foe
(@)FF  (b) AFIZ6 () AP  (d) WL ) WW mlm
10, 2] WA “TAFAT PIA{G? (c) wieR T ERETOR N
11. 37 @ras oreEa ¥ fodt @iforas? 28 —H‘aaméﬁ .
@500°  (5)600° (¢)5000° (d)6000° | w i .
12. coTfs femeree T @7 ®F @3 @7
(a) CO ®NO, ()NO  (d)N,0 29. x3—5x% + 6 = 0 FAFACR T a,b,c T ¥
13. @ e afTe @Rea Ty aidt w? a3 T (HB?
NO
(a) NO, (b)SO;  (¢)N,0, (d)CoO (a) —6 (b) ‘?1. ()0 b

B s ECTEF, /, - o
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36.

3.

38.

3.

4l.

4.

4.

4.

x

_ax+ 12y — 40 = 0 RIS Coirafiga wypyy

Y (b) 6 ()8 (d)12
(x4 +U*2’ = 1 Toqren Serafiae) a9

0
(: 1 ()3 (©)2 OF
o (tan'l .;_ +tan™? -;-) G W F67
of O O @-:
ot?0- (V3+1)cotd +v3 = 0.0<0<Z%0=
7o’ T w
i OLF  ORF  OLI
J',_,..dx 43 W @0 ?
@atc B)VX+c ©V2x+e @2vi+c
e SRR WAl AT FIB?
(a) MIAT™] (b) [MLT™"]
@kt (@[MLT?)
L=2i+]-keB = 4) - k(ST @7 oige 797
()3 ()7 (©9 (d)y11

a3 <11 T IR B0 9F 70 5 ms~1

(@l SN 19 517 2 ms ™2 T4 G0 5| 4 sec
o7 1Sl F© yag Sfewry Fa?

(a)41m b)50m (c)36m (d)70m
g o offefEFara TSt @It T\ Fe?

(2)0° (b)60°  (c)90°  (d)180°

7 T AP AT SRS 1:2 T,
16 CITA AT TS

@1v2  ()1:4  (c)1:2  (d2:1

60 kg ¥f% St @F @1 30 A6 600 m Tpre
TS oMt | O 1S SR F0! 992
@196W (b)392W (c)588W (d)98W

g wreeet zre e S e o= a geel-
(a) BT *fT (b) 3 =i
(c) 4% 77 (d) 45° STFITR AT

AT Tofd ST S0l FOlTe ST F w?
(@) % 0y (b) W 2 (o) FNE (d) B

TWWWW&@W‘EWW-
()sz ()3 Ikt ©3 BN (d)skT
@maﬁwmmﬂt‘wﬁmﬂﬁﬁw
(a) ereyrdt e (b) Sereyre! aferl
Owoigefem  (d)sars afem
BT St 1D ?

CF: (b= () hfc () hfc?

)\

oA ’-OW‘”!

49,

50,

51,

52.

53.

54.

59.

60.

61.

62.

63.

65.

68.

69.

A\ Ll
R r— BUTA A

WA @ gl wfye fawn w07

()9 % 10"y (h) 0.9 7 j0'' Y

(©) 9% 10"y (dy0.9» 10"V
ST CaTBIa i e anre s
B ettapt sr7547

(a) 9.4 x 10" ¢ (hyA6 » 10
(€)6.2 % 10717 (. (dy3.2% 1077 C

afB catena o g #5 1.5 Y a4 TEHE A4
20 197 AT 10 () ATAE TE D B T EE
wfge aaifes o147

(a)0.125A (b)0.251A (c)0.521 A (d)0.25A
100 0 catea a=f5 stremanfatz 10 mA 2ge &%
o arzet #ars M 10 A 2foe 222 T7E T
TS (@ANYa AS waPa?

9

(@040 (b)030 (c)020 (4014
e wem F=(A+B)(A+C) ZF, F 43
AFANFS T @D

(a)AB+C (b)A+BC (c)AC+B (d)B+AC
@Y F5a @ foarme Bom RSz =z =2

(a) ©omTs (b) 7ET

(c) ©fR &z (d) 2FETe CRE
A SRYRET Gt 79?2

(a) Sb (b) Cr (c) Mn (d) Ni

I AT THRE?

(a) N,Og (b) Na,0 (c) H,0 (d) PbO,
H3PO, @ P &3 TR W7 3?2

(a) 4 (b) 5 (€) 6 @7

36 @ pK, = 3, 3 O pH 9 s @O
“{ffere ZA?

(a) 2 3 ()4 (@5

CH, 93 (IR R v fofi?

(a) 1055° (b) 109.5° (¢) 107.5° (d) 108.5°
HSO; SIRITHR WHIR! WIS RD?

(@) HyS0,  (MSO]" (M0 (&) W,0*
TIFAHCEA TS pH 367

(a) 5.4 M84 (o) 7.4 () 6.4
wIeTAMIR SHART 700 nm R @R W ) w2
() 13244 X 10 m™"  (b) 11495 x 10* m=}
(c) 14286 X 10 m™" () 12239 x 104 iy
100 mL STIBIBFAS (€,H,) o woptaes waw —

) offerret wiarenas sjourem e ?
(a) 50 mL (b)) 100 mL (¢) 200 mb () 250 mL
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70. 5.0 A fare 60 A 478 CuSO, B0 4 AT BIereil e
St #if{we Cu e A? (Cu 97 AT &7 63.505gg)
a) 9.8 592g (c)59.20g (d)0.59g
71. %&Z;&ﬁ%ﬂ;ﬁwmwmwﬁﬁ%
TR 7R?
(a) CaCO;  (b) Cu (¢) C,HsOH (d) NaOH
72. 1 TN BIACE 1 QN G 5 GAGS WA OIS
I IET?
(a) G ¥ (b) G TR
(c) TN G (d) 7% 73t
74, IR0 tSR Qe eafiBy wa?
(a) ST 3% W i (b) Rftrars citerer wfber
(c) S vy 7w (d) *IfTs Swadrm
76. fE1IS Rmes it fATse Goimf e a1 T2
(2) JRETFET (b) ST
(c) B (d) aezE
77. RO T QTR wrR Ae R T 2?
C12H2,04, + HZO-T:;C—» 2CgH,, 04
(a) SRS (b) SRITEE
(c) TTo® (d) 2TSRBE
78. Sbow fRferma o @ YT ST B 2372
(a) Frog (b) Tweg
(c) FAINTg (d) B3 77
79. SEEC (P 9751 R ?

(a) Amyl acetate (b) Butyl butanoate
(c) Pentyl ethanoate (d) Ethyl acetate

LExtra Syllabus

18. "P =120 @3z °C, = 20 7=, r 93 I\ $©7?
(a)6 (b)5 (c)3 (d)2
24. 247 13 b Fre1Fe 72y Rrews (CV) %2
(a) 53.45% (b) 53%
(c) 52.5% (d) PTEIBE 7
25. 2 (T 40 A7 A WO @ @ g offTRRT
mmwaWWWWW?

@5 BF @ u
— > 5 eIy e @57
®) (3.3)

@ (5:5)
R x* Q7 725} o7

7. |2x-3|

9G
©E)ue

30. (1+ax)8 97 fRyforw x3

NN ZFa = 6?7
(b)2

5
(@) (©) ESE

/) \

h |
TH-A11q - Qoah’--b ]

35.

42.

35,

56.

57.

58.

66.

67.

73.

78.

80.

b
f(x) = V& — x 97 (Gl FS? \
(a) R (b)yx=2—-4 (c)x<4 (d)lll-.{
sfiffm ofaer A 3cm WG G2 B %‘;1!
s4ifus v g vad@? [T = 72 x 10“3Nm~1] :
(a)49x 103N (b) 432 x 1073

(¢)2.16% 1073 N (d)3.3x 102 N
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08. RN (b); °P, = r! x °C,

—tan"*(0) =pl= 240 _ 5o
_ o ot m; g (—10,0) Rwfe x-wra Felrg 120
- 16. FT4: (a); In(1-x)—In(1+x)
267 T 1 A !
- g BB W
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)
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23, WYR: (b); —1 < cosx < 1
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T2 z o 29—25
=tanz—tan0=1-0=1 32. SI: (d); ~1f3f3e T34, o g T
: 25+29
%, FAE: (c); VO + 16 + 144 = V169 = 13 TG, X=——=27
B, TGR: (3T TG 3); a = —w2x + faremrs, (V) = 2 x 100% = 7.4%
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_op_dx ‘ ot
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=xXx220rx<1 ax€ (~oo, 1] U [2,0)
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h @@y V= =1 =
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S21172x10% ~ 2.12 x 10* V
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Y TN (a1 e & v =400 ><- = 3333 ms™!
Ha 1 =1 x-ul_“i'_:i— 8.82A 72, TR @ij= (- Disr=312em
& (b); = =% 1000 = 100 76. WY (b); H = 22.5 X cos(30°)
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(a) el (b) fereanfs
frea e ifE fRoww @2 (c) SITTEEIE (d) F0TEG
@R+ OF+3 @F R+ T@OFM+F || AR G TR F P S oy o
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I &S 277 (a) ST T (b) GRITST GAITaT 274
(@) 1962 (b) 1972  ()2002  (d)2012 ()T eRTHEZT  (d) fie
QTS FATAITAA (I P ST FT? 14. 347 ¢ @ ARIT TG GIR TR 5% ey
(@) FRI (O (o) TR (d) ¢ TR 0, SR T ;
‘Race discrimination’ refers to- .
(a) Differences of caste, creed and colour (8) it SoRRE
(b) Distinction on the basis of caste, creed and colour (<) =t @ :
(c) Competition among the members of a race 15. (AR TG 311 28-
(d) Demoralization of people (i) crfears (i) =BT (iii) JREE
“Everyone has the right to equal access to public fAwsa @A wfw?
service in his/her country.” (a) i, ii (b) i, iii (©u,ui  (d)i, i, ii
(@ 152)  (®)172) () 192) (d)21(2) 16. 1%C 8 80 *F~m3-
Following which one is not included in ‘The Seven Cs’? (a) SRGEH (b) SR
(a) Criticism (b) Creativity (c) SRFRE ( d) MBS 7w
(c) Communication (d) Collaboration 17. 2H « oGy e
2 " eff 3
TEASTES NG TG FO7 (a)l% (b)Ofa
(a)3 (b) 4 (©)5 (d)6 ©2%
oAl v e % fofit GrrT? . S
(a) & 4000 (b) & 5000 ' “C; fﬁ-‘ TS ST TG 0
(c) &/ 6000 (d) &rF 7000 @) )4 ®
B b e ’ ©6® (d) @R 7Y "
F— ®) - : m"@’ll‘ﬂl (I RTTRE fgy i 9 e T 1
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(ii) *rREf wrfe
i b (i) sra1e iR
HUREIR {5 e e e e S
AT v @M e wafge? e
BrariaeT e (a)i (b) i, i (©)ii, iii  (d)i, "
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(o) SRR SRR (b) Safiyerg

(o) AOTET 7 (d)waﬁﬁm:;m
NO; SR 6 TR Ry

)16 (b) 15
@ 0] TGS T Sirg?
@)CHCl;  (®)NaH  (c) HF
714 4GF THIE @ -
@ FIE D) ST (©) g () gy g
fieral @ 7R TH TS % 7rera a2
[a)ﬂmw (b)“ﬂﬂﬁﬁm

() IS T (d) FRugTCE T

@ e Sigen?

(aHNO3  (b) HCIO; (c) H3PO, (d) H,S0,
Na;$,03 + Iz = Na;S,04 + Nal fafepamy.

(i), @S (i) |, 97 TR wBrm

(iii) NazS; 03 B

fra e fow?

(a)i (b) ii, ii (c) iii (d) 1, i
In/In** (E" = +0.76V) @37 ¥ fse camors
FILIC /0 AL 41 AI?

(a) Co/Co**(E" = +0.28V)

(b) Mg/Mg?*(E’ = +2.36V)

(c) Ca/Ca**(E" = +2.87V)

(d) APt JAI(E® = —1.66V)

AR @ SRR s w1z corm faferan
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(a) opet fRfeFa (b) Bt R

() Seareres fferm (d) e soifim fRfer
o e fRf¥iB oS 2o ot X wifRs = Y Beor
FA1Y @IS 2,4-DNP 97 1T 0 W4TF BT
I3 forg carefore et wmew RfeFan s A X @sifoa
LK

(a) CH; - CH, — CH, — OH

(b) CH; - CH, — CHO

(¢) CHy - €O — CH,4

(d) CH; - CH(OH) — CH,4

(d)32

(d) HBr

(d) CIZCH — CHBr;
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47.

53 ol v e siferwet 291 7

(a) OH (b)NH, (c)CHO  (d)CHj

PRI 315w AfaFmerE @ @Ab?

(a) “CH; > ~CHR, > ~CH,R > ~CR;

(b) "CH; > ~CH,R > ~CHR, > “CR3

() "CR;3 > ~CH,R > “CHR, > ~CHj

(d) "CR; > ~“CHR, > ~CH,R > ~CH;

WilEm=[* 2] au feodie s cri?
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14 12 4 14
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2 E
(14 14]] 14 14
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O = @i 2
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= fore e @ 71 oz T o
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“fibect 207 k @3 W @FB?

(a) 12 (b) 16 (c) 18 9

(@ 0),(0, b), (1, 1) e T TI @I *IS?
(@)a+b=1 (b)-;-{-%:
(dJa+b=ab

2x* +2y* + 6x — 8y + ¢ = 0 3B x THF ~opf
FA; ¢ 93 TH @FHB?

(a) 2.5 (b) 3.5 (c)4.5 (d) 2.25
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25
24

3 25
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Ciifd IS \/ \ W
T s ARl ? ST G TGO G T T,
(a) y = sin (x + 30°) (b) y = tanx 3
- (d)y = cos @imr? (MR (©)3MR? (@ vigy

3 1 x+3 65. 20 kg-wt-m @ Joule & AP FqH Sani
,EL“& (1 +x) =TS7? (2)199] (b) 196]  (c) 200] (d)‘i\t;
O ®e  @¢ (@1 .l arE T 4% 10°m GRS 27, 102&'
J = = CRE? B otz I @71 T? .
(a) sin~1(e¥) ®) == (a) 121.4 kms™ (b) 122.5 kmg-1
(c) cos™H(e™) (d) tan~1(¥) (c) 1306 kms™ (d) 110.6 kms-1
. §+§=1.xweywwwm 67. @I T @A 2 60W%m
i 5 e tads (m) F97
()10 U‘D) ' 2 (@20 (a) 0.993 (b)0.963 (©)0.925 (g 0.95
_ f3bxdx— 9 68. 1 mm? egmEn CRaF P8 aF e oy
i 5 10% s FC TS T AT FWE T7
(a) E (b)m (C)ﬁ;?: (d ) Inb 2 X 1011 Nmz]
tan6 = > T sinb «F T (IAL? (a) 2 X 104N (b) 6 X 10* N
1 8 x 10* N (d)12 x 10*N
(@ 7 e OF OfF ©
69. 0°C SN SIHCSCAA &1 G I T 337
= cotx TG @I e [{fven? '
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= ®)3 ©3 (97 (c)861 ms™? (d) 961 ms™
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(c) 6.183 rads™? (d) 8.183 rads 2

Q2fb P17 TG B wafge qafb 259 fFmve cafd
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Short Syllabus

ST (a); Rovef i Frrsamea s + @4 = e
SIY: (d); TG SIS W@ e
ROIR A |

AN (¢); AFER FfAIB QAL G’
RIS 3T

Solution: (b); Race discrimination refers to the
distinction on the basis of caste, creed and colour.
Solution: (d); SIfS5CER Universal Declarations of
Human Rights (1948) @9 21(2) Article-9 I# ACE,
“Everyone has the right to equal access to public
service in his/her country.”

S (c); Cr(24) = [Ar] il |4I|

AN (d); TIFB CIASTEA IEAN 17 I |
Sc3*,Hg?* 8 Zn?* @3 ST d wARBHE IAUBTT
M, 7 & = A 93 SRFRR GiE 7| @
Ni2* @3 7408 d S5 S o4 |
FAAY: (a); (AT W‘lﬂﬁﬁ‘i’li"’m

+5 +5 +5

HNO3, HCIO;, }{31’04,112303

S_1E, HNO;, HCI0; '8 HyPO, @3 04T N O3 SIS
FHOT B 51E 47 AES |

FoAr, ©iged @N: HNO; > HzPO, > HCIO; >
H,S0;

. AAYE: (a); 9F9@ Co/Co?*9q T4 T Zn/

Zn?* g7 G4 faeg 7o o9

AAYIA: (d); CH; — CH(OH) — CH4 E—!—r CH; -

CO — CH
2.8 o

%‘9% @ fafarm oG w1

T (o) [° 2] iGeta Rede i e

1 [d —-b]
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T ST
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AAH: (3% T8 R)s y? — 6x + 4y + 10 =0

=2y +4y+4=6(x—-1)
= (y+2)?2 =4x§(x-—1)
AWEY+2=0 ay=—2
FAYIS: (b); (ARG tan0° =0
WO y = tan x YA
STE: (b); lim (142)

= lim (1+

X—=00

lim (1+§)3=e-13=e

X—00
Shortcut; * T x f a3t _ elxl = ¢
AN eXdx
(d); J‘e"+e"“ - Jle‘*-rl
- -1 &
I{e‘}’+l tan™(e) | Ia‘ﬂ’
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s (RE TS A®): tan o = 2.

.* »8in0 = —

A
N

ST (a);y = cotx = y = 22X

sinx
I sinx =0
&¥Wsinx=0~xXx=nmnezZ

Teadx=0,+m +2m...

-. Option ST (a) option Ao
FarE=: (d);
—Yy=sin 0
) i~~~ 121
27 :

= 58 708 331 T @, sin 6 WS fAAfiS a4 = 2n
Y (a); A-B = ABcosf

=5x5xcose(1°=3o><§=1s

TA4H: (a); P x Q = (51— ) x (k)
=5(ixk)-(jx k) =5(=j) - () = -1 -5
AAGA: (a); s, = u+%a(2t- 1)
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S S L L L LR LSS SR, L

“Ifr @S AT G BE! A A FA O AW O FTOy He 7y |

EP51-STRIETEY | 200Q-2Y !

WA (b O = 21 % 10 = 20m 472
= 20 rads ' » w? = 2al
sone 3183 rads /
0
AU (e); e = tan® = tandl

FHIMTA: (b); 20 kgm x 9.8 ms :
= 196 kgm?s ? = 196

e (1f¥s Sga o®); v, = = 383.19 kms ™'

-
(ak T = 228 o - =
WY (a); T = - =21s. T—ZHJ‘

2! L . 2 :
=’;—f—l-;=i -.!,=—~,=0‘9‘J3m
- (a): F_‘hll z:m”rlxm “10 =2x10*N

A (b)i Cpms = f"_ /“1";‘:2, 2 = 461 ms™!

ANIY: (d);mmwnm[

| ﬁ 5x1.5
mm} nih-r o 5x0.5+05
-—-294

ANYA: (a); p=q-21=32x 1077 x3 x 107"

Extra Syllabus

AN (a); Hp — Hr = AH @3z Smeneems: iy
AH negative.

FATYE: (b); 7Y R e 5@ Tuerm |

AAYE: (b); a-SATT @fires «fFEm)

a4
THYEA: (a); °Cox*(3) =70 x 16 = 1120
AR (e); f(X) =x* —9=y=xi=y+9
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Short Syllabuﬂ

(b) ¥ + W
(d) NTAT + =1

(Q) ¥z + 99
(c) AT + I

(b) CTg= &l
(d) FAFR

(a) IRt Fort
(c) &T97 HATE

. IS S $© 24 U YT I ?

(a) 19 (b) 20 (c) 21 (d) 22

‘Take to Task’ synonym is -

(a) Call down (b) Approve
(c) Endorse (d) Allow
Martin Luther King Jr. had a dream of-
(b) Revolution
(d) Power

(a) Independence
(c) Freedom

. Who is the writer of the poem ‘The School boy’?

(a) William Wordsworth (b) William Blake
(c) William Shakespeare (d) William Murphy

. AR EEAGTE A4S (P 41 TR?

(a) (3112 6 ©TF (b) Gz @ fArz=
(c) Gy @ A= (d) ©IF 8 feFa
@G S ?

(a) ATAIZE (b) BRI

(c) ATAAIA (d) ferspirs

weaafifaa @ 94 fara ofere swd @2 2, e # a7
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14.

15.

16.

17.

.WW'mwmﬁWﬁmw
(a)ewmwﬁsmewm

(b) AA-TAIA oAife LA TS A

(c) ST TSI (CF (TS 7T
(d)ﬁwwmmm
W@wm@wmuﬁs@ﬁm

e FE?

(a) RGBT (b) ST

(c) ST (d) e

wieet aférm gffagre i ae?

(a)ﬁﬁt@ (b)'ﬂﬁ@ﬂﬂ

() DT (d) ARTT

@1 IR Beid (A Wede e fies fats e
otz Wi it = T {wS e
34.3 m Ay Sfewy 30 | fmrEbe Twel Fe?

(a) 70.4m (b) 784 m .
(c) 98.4m (d) 65.4 m
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